CHAPTER

Cisco NX-0OS

AAA
Authentication, Authorization, Accounting AAA,
AAA-1
AAA-1-AAA SESSION_LIMIT_REJECT: aaa request rejected as
maximum aaa sessions are in progress.
AAA AAA
Cisco TAC
AAA-2

AAA-2-AAA_NVRAM_UPGRADE_FAILURE: upgrading of accounting log
failed. [chars].-

Cisco TAC

AAA-2-AAA_PROGRAM_EXIT: aaa daemon exiting: [chars].

Cisco TAC

Cisco NX-0OS
[ oL-15994-01-3
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|
AAA-3
AAA-3-AAA_NVRAMFAILURE: nvram failure.
NVRAM /
Cisco TAC
AAA-6

AAA-6-AAA_ACCOUNTING_MESSAGE: [chars].

I Cisco NX-OS

OL-15994-01-J |
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ACL
Access Control List ACL;

ACL-2

ACL-2-ACL_HA FAILURE: Failed to do high availability operation:
[chars].

ACL-2-ACL_INIT_FAILED: Initialization failed for ACL: [chars],
reason: [hex].

ACL

ACL-2-ACL_LINECARD_STATUS: Status from linecard [dec], for
module: [chars](1D: [dec]), status : [dec], error_id: [hex], catastrophic:
[chars], restart count: [dec].-

ACL-2-ACL_MTS_FAILURE: Failed to do MTS operation: [chars].

Messaging and Transaction Service MTS

ACL-2-ACL_MTS_REGISTRATION_FAILED: MTS options setting to
[hex] failed for opCode: [dec].

MTS

ACL-2-ACL_PSS_FAILURE: Failed to do PSS operation: [chars],
reason: [hex].

Persistent Storage Service PSS

Cisco NX-0OS
[ oL-15994-01-3
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|
ACL-2-ACL_PSS_VER_FAIL: PSS file [chars] has version
[dec].[dec]-[dec], expected version [dec].[dec].[dec].-
PSS PSS
ACL-2-ACL_RUNTIME_FAILURE: [chars] [dec], Error: [hex].
ACL
ACL-2-ACL_TCAM_FAILURE: Failed to do TCAM operation: [chars].
Ternary CAM  TCAM
ACL-4
ACL-4-ACL_WARNING: [chars] [dec]-
ACL
ACL-6
ACL-6-ACL_DIAG_EVENT_STATUS: [chars] [hex].-
ACL
ACL-6-ACL_LINECARD_EVENT_STATUS: [chars] [hex].-
ACL
ACL-6-ACL_MCAST_EVENT_STATUS: [chars] [chars].
ACL

Cisco NX-0OS
OL-15994-01-J |
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ACL-6-ACL_PORT_MODE_EVENT_STATUS: [chars] [chars].

ACL-6-ACL_RUNTIME_STATUS: [chars] [dec].

ACL-6-ACL_SPAN_DEST_CONFIG_STATUS: [chars] [chars].

ACL-6-ACL_SPAN_SRC_CONFIG_STATUS: [chars] [chars].

ACL-6-ACL_STATUS: ACL Status: [chars].-

ACL
ACL
ACL SPAN
ACL SPAN
ACL

ACL-6-ACL_UPDATE_SSRAM_QOS_EVENT_STATUS: [chars] [chars].-

QoS Quality of Service

Cisco NX-0OS

ACL SSRAM

[ oL-15994-01-3
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ACLLOG
Access Control List ACL;
ACLLOG-4
ACLLOG-4-ACLLOG_MAXFLOW_REACHED: [chars].-
maxflow
ACLLOG-4-ACLLOG_THRESHOLD: [chars]-
ACLLOG-6

ACLLOG-6-ACLLOG_FLOW_INTERVAL: [chars].

ACLLOG-6-ACLLOG_NEW_FLOW: [chars].-

Acllog

Cisco NX-0OS
OL-15994-01-J |
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ACLMGR
ACLMGR

ACLMGR-2

ACLMGR-2-ACLMGR_COMMIT_FAIL: Commit failed: client %l1IX,
[chars].

ppf

ACLMGR-2-ACLMGR_NO_ERRDISABLED: [chars] event on ifindex [hex]
allowed to succeed in spite of access-list failure.

errdisable

ACLMGR-2-EXITING: Exit reason: [chars].

ACLMGR

ACLMGR-2-INITFAIL: ACLMGR Service Init failed: [chars].

ACLMGR
ACLMGR-2-MALLOC_ERROR: Size [dec] bytes.
ACLMGR
Cisco TAC
ACLMGR-2-PSS_ERROR: [chars]: PSS ret. val=[dec].
ACLMGR

Cisco NX-0OS
[ oL-15994-01-3
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|
ACLMGR-3
ACLMGR-3-ACLMGR_PPF_ERROR: PPF error: [chars].
PPF
ACLMGR-3-ACLMGR_PSS_CORRUPTED: [chars] PSS found corrupted.
ACLMGR 1
ACLMGR-3-ACLMGR_STAT_CONSOL IDATION_FAILURE: ACL statistic
parsing or consolidation failed.
ACLMGR-3-ACLMGR_VACL_REDIRECTION_DISABLED_REMOVAL: VACL
redirection to ifindex [hex] disabled: the port has been removed.
VACL
ACLMGR-3-ACLMGR_VERIFY_FAIL: Verify failed: client
%11X, [chars].
PPF Verify
ACLMGR-3-MTSERROR: [chars].
ACLMGR MTS
ACLMGR-4

ACLMGR-4-ACLMGR_PPF_WARNING: PPF warning: [chars].

PPF

Cisco NX-0OS
OL-15994-01-J |
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ACLMGR-4-ACLMGR_VACL_REDIRECTION_DISABLED_PCM: VACL
redirection to ifindex [hex] disabled: the port became a portchannel member.

VACL

ACLMGR-4-PSS_VERSION_MISMATCH: PSS [dec] Code [dec].

ACLMGR

ACLMGR-6

ACLMGR-6-ACLMGR_PPF_NOTIF: PPF notification: [chars].

PPF
ACLMGR-6-BECAME_ACTIVE: Became ACTIVE from standby mode.
ACLMGR
ACLMGR-6-BECAME_STDBY: Became STANDBY from active mode.
ACLMGR

ACLMGR-6-FAILED_TO_SEND_ HEARTBEAT: Failed to send heartbeat to
system manager: Reason:[chars].

ACLMGR

ACLMGR-6-SERVICE_UP: Initialized [chars].

ACLMGR

ACLMGR-6-SRVEXIT: ACLMGR Service shutting down gracefully.

ACLMGR

Cisco NX-0OS
[ oL-15994-01-3
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ACLMGR-6-SWITCHOVER: Switching Over to other Sup.

ACLMGR

ACLQOS-SLOT
ACLQOS-SLOT

ACLQOS-SLOT#-2

ACLQOS-SLOT#-2-ACLQOS_FAILED: ACLQOS failure: [chars].

aclgos ACLQOS

ACLQOS-SLOT#-2-ACLQOS_MALLOC_FAILED: Memory allocation
failed.[chars].

ACLQOS-SLOT#-2-ACLQOS_OOTR: Tcam resource exhausted: [chars].

acl Tcam

ACLQOS-SLOT#-2-PPF_FAILED: Database failure: [chars].

aclgos

ACLQOS-SLOT#-3

ACLQOS-SLOT#-3-ACLQOS_QUEUING_ERROR: ACL/Q0S queuing error:
[chars].

ACL/QoS

Cisco NX-0OS
OL-15994-01-J |
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ACLQOS-SLOT#-4

\o T6.0+ ACLQOS-SLOT#-4-ACLQOS_QUEUING_INVALID: ACL/QoS invalid queuing
policy: [chars].

Sy u28 Xo f# P]*o .300 AaOuoOU-

ACLQOS-SLOT#-5

\o T6.0+ ACLQOS-SLOT#-5-ACLQOS_NON_ATOMIC: Non atomic ACL/QoS policy
update done for [chars].

'y ACL/QoSP]*0é5V ;R6" 6J:0;C- uOU-

*QE£1 »£ -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,
| oL-15994-01-J
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ACLTCAM T6.0+

iTaée” Access Control Li@ACL; ., &f: on
.0

]1.:90 Ternary CAMDCACLTCAM9O
T6.0+teBsa'yOUO-.

ACLTCAM-2

\o T6.0+

ACLTCAM-2-ACL_TCAM_CONFIG_READ_FROM_DRIVER_FAILED: [chars]
[dec], Error: [hex].

LY H bo: f# f+f ASIC<\ CAZ 30C’0 a¢ \o T6.0+4a

\o T6.0+

ACLTCAM-2-ACL_TCAM_CONFIG_WRITE_TO_DRIVER_FAILED: [chars]
[dec], Error: [hex].

'Yy H bo: f# f+f ASIC<\ C&30 E1 000 -
*Q£1 »E DAl

\o T6.0+

ACLTCAM-2-ACL_TCAM_INCONSISTENT_DATABASE: Database found
inconsistent.

[y :02Lo,é#f"€C-xRAE UOU-
*QEf »£ -Dalde

\o T6.0+

ACLTCAM-2-ACL_TCAM_INCONSISTENT_TCAM_CONTENTS: TCAM contents
found inconsistent.

Ly TCAM &f9f7é#'eC-xRAE uOU-

*QE£1 »£ -Dald-

\o T6.0+ ACLTCAM-2-ACL_TCAM_INIT_FAILED: Initialization failed for
forwarding engine ASIC: [dec], [chars] TCAM.

'y TCAM éH bo: f# f+f ASIC Ew{aEud adU-

*QE£1 »£ -Dald-.

\o T6.0+ ACLTCAM-2-ACL_TCAM_INIT_REGIONS_FAILED: Initialization failed
for forwarding engine ASIC: [dec],[chars] TCAM,[chars] Region.

Ly TCAM éH bo: f# f+f ASIC é]lo+Zf Ev{aEU0O aoU-

*QEf »£ -Dal-

M CiscoNX-OS *,9S T6.0+ JH _f,
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\o T6.0+ ACLTCAM-2-ACL_TCAM_MALLOC_FAILURE: Memory allocation failed
for size [dec].

JYy TU]é °cAaCaE&aZ£pUagcA \o T6.0+4a0-

«QET 3., cAGOUOD-.

\o T6.0+ ACLTCAM-2-ACL_TCAM_MTS_FAILURE: MTS operationfailed:[chars].
LYy MTS2ba,EOUTEC \o T6.0+6é!1+a0-

*QE£1 »£ -Dald.

\o T6.0+ ACLTCAM-2-ACL_TCAM_MTS_REGISTRATION_FAILED: MTS registration
failed for opCode: [dec].

'y  opCodeé MTS™3sCAEUO aoU-

*QEf »£ -Dald-

\o T6.0+ ACLTCAM-2-ACL_TCAM_NO_TCAM_LEFT: ACLTCAM resource exhausted
for interface : [chars].

'y ACLTCAM Bo< ]0o, 6¢% uOU-

*QE£1 »£ -Dald-

\o T6.0+ ACLTCAM-2-ACL_TCAM_PHY_TCAM_READ_FAILED: [chars] read from
hardware TCAM failed(ASIC: [dec], [chars] TCAM, Address: [dec], Num Entries:
[dec],Error: [chars]).

'y Bo< TCAM £ é’40 CAaEa&£PU&G,A \oT6.0+4a0-

*QEf »£ -Dal-

\o T6.0+ ACLTCAM-2-ACL_TCAM_PHY_TCAM_WRITE_FAILED: [chars] write to
hardware TCAM failed(ASIC: [dec], [chars] TCAM, Address: [dec], Num Entries:
[dec],Error: [chars]).

'y Box< TCAM 6é E1 UCAE&AZLEPUELA \0T6.0+80-

Q£ »£ -Dald-

\o T6.0+ ACLTCAM-2-ACL_TCAM_PSS_FAILURE: Failed to do PSS operation:
[chars],reason: [hex].

Ly PPS2b s- AaEA&PUA¢A \o T6.0+40-

*QE£1 »£ -Dald-

\o T6.0+ ACLTCAM-2-PSS_OPEN_FAILED: PSS open failed -[hex].

'y ACLTCAM éx-:02Lo, Bf<A caEa&PUELA \o T6.0+4a
Ol

*QEf »£ -Dal-

CiscoNX-OS *,9S T6.0+ ]JH _f,
| oL-15994-01-J
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|
\o T6.0+ ACLTCAM-2-RECONS_FAILED: Reconstruction of TCAM contents
failed during upgrade-[hex].
JY O u—[ 6J# _o<(e ACLTCAM &f9f7C\OEct%:D a¢écacA
\o T6.0+a0-
*QE£1 »E -Dale
ACLTCAM-3
\o T6.0+ ACLTCAM-3-REGISTER_FAILED: Could not register to MTS opcode
[chars]-error [hex].
LYy +$ D a¢ lb#ne ACLTCAM J°., ™3saE&ZEbPUE&A \o T6.0+
a0-
*QE£1 »£ -Dalb-
ACLTCAM-6

\o T6.0+ ACLTCAM-6-ACL_TCAM_STATUS: Status: [chars].

'y ACLTCAM ,902,8& \o T6.0+304ZTD 0u0-

*QE£1 »£ -Dald-.

Cisco NX-OS *,9S T6.0+ JH _f,
0L-15994-01-J |
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AM T6.0+
ifae” AM T6.0+aeBia'yOuOb-

AM-2

\o T6.0+ AM-2-SET_SCHED Format: Failed to set policy or priority
JYy AM éEV.{ A6 (»40H; \oC"1¢OuOU-

*QEf ,26" 170<Ou0-

\o T6.0+ AM-2-INIT_FAIL Format: Initialization failure
'Y AM éEY{ ®”A6 (»80H; \oC"l¢OuOU-

*QEf ,26" 1"0<Ou0-

\o T6.0+ AM -2 - SYSMGR_QUERY Format: Failed to query sysmgr for %s
JY OAM éEY{ ®@”Ab6 (»&40H; \oC"1¢Ou0U-
*Q£1 ,26" 170<Ou0b-

\o T6.0+ AM-2-SYSMGR_UUID Format: Failed to get uuid from sysmgr during
%s

'Y AM éEY{ ®"A6 (»840H; \oC"¢OuOU-

*QEf ,26" 170<Ou0-
\o T6.0+ AM-2-SYSMGR_NAME Format: Failed to get name from sysmgr during
%s

'Y AM éEY{ ®”A6 (»80H; \oC"l¢OuOU-

*QEf ,26" 1"0<Ou0-

\o T6.0+ AM-2-SYSMGR_NOTIFY Format: Bad notification from sysmgr for %s
'Y AM éEW{ ®”A6 (»80H; \oC"l¢OuOU-

Q1T ,26" 1'0<0u0-

\o T6.0+ AM-2-SHM_CREAT Format: Failed to create shared memory: %s
JY O AM éEY{ @”A6 (»&0H; \oC"1¢Ou0OU-

«Qf£T  ,26" 1'0<0u0-

CiscoNX-OS *,9S T6.0+ ]JH _f,

[ oL-15994-01-J
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\o T6.0+ AM-2-SHM_LOCK_CREAT Format: Failed to create shared memory

lock: %s
'Y AM éEY{ &®”A6 (»80H; \oC"l¢OuOU-
+Q£1 ,26" 1"0<Ou0-

\o T6.0+ AM-2-API_INIT Format: Failed to initialize %s API
LY OAM éEY{ ®@”A6 (»&40H; \oC"1¢Ou0U-

«Qf£T  ,26" 1'0<0u0-

\o T6.0+ AM-2-URIB_CNTXT Format: Failed to get %s VRF from URIB

Y AM éEY{ ®"A6 (»40H; \oC"IEOUO U

«Qf£1T  ,26" 1'0<0u0-

\o T6.0+ AM-2-URIB_PIB Format: Unable to get pib for %s VRF from URIB
JYy O AM éEV{ A6 (»40H; \oC"1¢OuOU-

*QEf ,26" 170<Ou0-

\o T6.0+ AM-2-SVR_REG Format: Failed to register as a client of %s for

VRF %s
'Y AM éEW{ ®”A6 (»80H; \oC"l¢OuOU-
*Qf1T ,26" ]'0<Ou0-

\o T6.0+ AM-2-CLI_INIT Format: Failed to initialize CLI
LY OAM éEY{ ®@”A6 (»&0H; \oC"1¢Ou0U-

«QfT  ,26" 1'0<OU0-

\o T6.0+ AM-2-THR_CREAT Format: Failed to create thread %s: error %d

Y AM éEY{ ®"A6 (»40H; \oC"IEOUO U

*Qf£T  ,26" 1'0<0u0-

\o T6.0+ AM-2-THREAD_FAIL Format: Failed to start %s thread
JYy O AM éEV{ A6 (»40H; \oC"1¢OuOU-

*QEf ,26" 170<Ou0-

\o T6.0+ AM-2-MQ_OPEN Format: Failed to open message queue %s: %s
JYy O AM éEV{ A6 (»40H; \oC"1¢OuOU-

*QEf ,26" 170<Ou0-

Cisco NX-OS *,9S T6.0+ JH _f,
0L-15994-01-J |
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\o T6.0+ AM-2-MTS_SADDR_GET Format: Failed to get source of mts queue

%s: %s
'Y AM éEY{ &®”A6 (»80H; \oC"l¢OuOU-
+Q£1 ,26" 1"0<Ou0-

\o T6.0+ AM-2-MTS_BIND Format: Failed to do mts_bind for %s: %s
LY OAM éEY{ ®@”A6 (»&40H; \oC"1¢Ou0U-

«Qf£T  ,26" 1'0<0u0-

\o T6.0+ AM-2-MTS_RECV Format: MTS queue receive failed on %s queue: %s

'y Do é2€" \oC"I¢OUOU-

«Qf£1T  ,26" 1'0<0u0-

\o T6.0+ AM-2-BAD_TIMER Format: %s
JYy O AM éEV{ A6 (»40H; \oC"1¢OuOU-

*QEf ,26" 170<Ou0-

\o T6.0+ AM-2-REQD_COMP_DOWN Format: Required component %shas gone down.
'y Do é2€" \oC"¢cOuOU-

*QEf ,26" 1"0<Ou0-

\o T6.0+ AM-2-REQD_COMP_FAIL Format: Required component %shas failed to

initialize.
LY OAM éEY{ ®@”A6 (»&0H; \oC"1¢Ou0U-
*QE£1 ,26" 170<Ou0b-

AM-3

\o T6.0+ AM-3-RIB_RTE_CHG Format: Failed to send AM route changes to %s
'y Do éA6 (»8 \oC"licOUOU-.

eQET $.0 &iluO+$@»Ee -DAO

\o T6.0+ AM-3-THR_MUTEX_LOCK Format: Failed to thread mutex lock

'y pthread_mutex_lock(» s- AE0O a0OU-

«Qf£T  ,26" 1'0<0u0-

CiscoNX-OS *,9S T6.0+ ]JH _f,
| oL-15994-01-J
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\o T6.0+ AM-3-THR_MUTEX_UNLOCK Format: Failed to thread mutex lock
.y pthread_mutex_unlock(» s- aEuO aoOU-
*QEf ,26" 1'0<Ou0-
\o T6.0+ AM-3-MQ_RECV Format: Message queue receive failed on %s queue:
%s
'y Po éA6 (»4 \oC"l¢OUOU-

*QfT $.0 &ilubO$m»ee Dald-

\o T6.0+ AM-3-MQ_SEND Format: Failed to send %s to %s queue: %s

'y Do éA6 (»& \oC"EOUOU-

*QfT $.0 &ilubO$m»ee Dald-

\o T6.0+ AM-3-MTS_SEND Format: Failed to send %s to %s queue: %s
'y Do éA6 (»8 \oC"leOUOU-

*QfT $.0 &ilub$=»£e -pald.

\o T6.0+ AM-3-NO_MEM Format: Malloc failed for %s %s
fY *,9SéTU]IC +04¢ (»HCY% ul-.

*Qf£T TU]é/+a0+"02&TU]1J Oulb-

\o T6.0+ AM-3-NO_SMEM Format: Smalloc failed for %s %s

4y ™eéap C=+04; AuUETU] Jo"CUAa” AM éR-TU] " 02
6c%bPae PHCY 0l

*Qf£T TUlé/+a0+"02a&TU]1J Oul-

\o T6.0+ AM-3-MAX_RETRIES Format: Notification retry limit exceeded for
%s

Sy "\ f£;CTU &£ élb#ine %uOacul

*QEf ,2Q0 (Po;ac¢sd ZTOAEUD -
\o T6.0+ AM-3-NO_PIB Format: Unable to get pib for client pid %d while
processing %s

'Yy Do éA6 (»8 \oC"¢OUOU-

*QET $.0 &ilub$=»£e -Dald-.

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ AM-3-NO_AF Format: %s: Unable to get address family block for
index %d

'Yy Do éA6 (»8 \oC"cOUOU-
eQfT $.0 &ilubOe$zE»ee Dald-

\o T6.0+ AM-3-DEL_PROT_ADJ Format: Unable to delete protocol adjacency
for %s, uuid %s

'y Do éA6 (»& \oC"EOUOU-

*QfT $.0 &ilubO$m»ee Dald-

\o T6.0+ AM-3-PT_ADD Format: Pt_add failed for %s%s

'y Do éA6 (»8 \oC"leOUOU-

*QfT $.0 &ilub$=»£e -pald.

\o T6.0+ AM-3-QUEUE Format: %s failed for %s
'y Do éA6 (»4 \oC"lcOUOU-
*QET $.0 &ilub$e»£e -Dald-.
\o T6.0+ AM-2-NO_WORKBIT Format: Failed to register %s too many notify
clients
'y Do é2€" \oC"¢OuUOU-
*QE£1 ,2Q0 (Po;a®c¢50 ZTOAEUD -

\o T6.0+ AM-3-BAD_PARAMS Format: Called %s with address family %d, iod
%d, I3address %s

'y Do éA6 (»& \oC"EOUOU-

*QfT $.0 &ilube$e»£e -pald.

\o T6.0+ AM-3-MTS_DROP Format: MTS drop failed on %s queue: %s
'y Do éA6 (»4 \oC"lcOUOU-
*QfT $.0 &ilub$=»£e -pald.
\o T6.0+ AM-3-READ_LOCK_HOLD Format: %s:%s():%d: Assert, read-lock not
acquired
'y Po éA6 (»8 \oC"l¢OUOU-

eQfT $.0 &ilubOe$»te Dalde.

CiscoNX-OS *,9S T6.0+ ]JH _f,
| oL-15994-01-J
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\o T6.0+ AM-3-MSG_TO_TLV Format: Notification message to TLV failed
'Yy Do éA6 (»8 \oC"cOUOU-

Q1 $@»fe -Dald-

\o T6.0+ AM-3-TLV_TO_STRUCT Format: Notification TLV to struct failed
'Yy Do éA6 (»8 \oC"cOUOU-

Q£ $e»fé Dald-.

\o T6.0+ AM-3-MAC_REG_FAILED Format: Mac registration with L2FM failed
for mac %s, iod %s, phy iod: %s

Sy Mac L2FM &™3sO Tde, EOUOU-

\o T6.0+ AM-3-SHM_OPEN Format: Shared memory does not exist: %s
fYy o *,98 Lf;a4PO +7 #4a0.

Q£ $e»fé Dald-.

AM-5

\o T6.0+ AM-5-REG_DELAY Format: AM register %s delay: %d seconds
'Yy Do éA6 (»8 \oC"cOuOU-
eQfT $.0 &ilubOe$zE»ee Dald-

\o T6.0+ AM-5-MQ_UNEXP Format: Received unexpected message (%d/%d) on
%s queue

'y Po éA6 (»4 \oC"l¢OUOU-

*QfT $.0 &ilubO$m»ee -Dald-
\o T6.0+ AM-5-MQ_MAJOR Format: Received unknown major message type (%d)
from %s

'y Do éA6 (»8 \oC"leOUOU-

*QET $.0 &ilub$=»£e -Dald-.
\o T6.0+ AM-5-MQ_MINOR Format: Received unknown minor message type (%d)
from %s

'y Po éA6 (»4 \oC"l¢OUOU-

eQET $.0 &iluO+$@»Ee -DAO

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ AM-5-MSG_UNK Format: Received unknown % type: %lu
'Yy Do éA6 (»8 \oC"cOUOU-

*QET $.0 &ilub$e»£e -Dald-.

\o T6.0+ AM-5-MTS_OPC_UNK Format: Received unknown MTS opcode %lu
'Yy Do éA6 (»8 \oC"cOUOU-

Q£ $e»fé Dald-.

\o T6.0+ AM-5-INVALID_NOTIFY Format: Received invalid notification
message

'y Do éA6 (»& \oC"EOUOU-

*QE£1 $e»fé Dald.

AM-6

\o T6.0+ AM-6-SYSMAN_CLEANUP Format: Terminated by SYSMAN cleanup signal

Ly *,9S Lf;e4P O +7 #4a0.

*QE£1 $e»fé Dald.

\o T6.0+ AM-6-FAILED_STATS Format: Failed to retrieve stats from FTM
Jy o *,9S  Lf;@4P0 72 #4a0-

*QEf $e»fé Dald-.
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ifae” ARPT6.0+a&Bia'yOuld-

ARP-2

\o T6.0+ ARP-2-SET_SCHED Format: Failed to set policy or priority

Ly arpéEvi{ A6 »40H; \oC"1¢OuOU-

*QEf ,26" 170<Ou0-

\o T6.0+ ARP-2-INIT_FAIL Format: Initialization failure
'y arpéEv{ ®"A6 (»80H; \oC"¢OuOU-

*QET ,26" 1"0<Ou0-

\o T6.0+ ARP-2-SYSMGR_QUERY Format: Failed to query sysmgr for %s
LYy arpéEvi{ ®”A6 »&0H; \oC"1¢OuOU-
*Q£1 ,26" 170<Ou0b-

\o T6.0+ ARP-2-SYSMGR_UUID Format: Failed to getuuid from sysmgr during
%s

Sy arpéEVi{ ®”A6 »&40H; \oC"1¢OuOU-

*QEf ,26" 1"0<Ou0-

\o T6.0+ ARP-2-SYSMGR_NOTIFY Format: Bad notification from sysmgr for %s

Ly arpéEvi{ A6 »40H; \oC"1¢OuOU-

*QEf ,26" 170<Ou0-

\o T6.0+ ARP-2-SHM_ATTACH Format: Failed to attach %s shared memory
'y arpéEv{ ®"A6 (»80H; \oC"1¢OuOU-

*QET ,26" 1"0<Ou0-

\o T6.0+ ARP-2-API_INIT Format: Failed to initialize %s API
LYy arpéEvi{ ®”A6 »&40H; \oC"1¢OuOU-

«QfT  ,26" 1'0<OU0-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ ARP-2-SVR_REG Format: Failed to register as a client of %s
'y arpéEv{ ®"A6 (»80H; \oC"¢OuOU-

*QET ,26" 1"0<Ou0-

\o T6.0+ ARP-2-AM_REG Format: Failed to register as a client of AM %s
'y arpéEv{ ®"A6 (»80H; \oC"¢OuOU-

Q1T  ,26" 1'0<0u0-

\o T6.0+ ARP-2-AM_PIB Format: Failed to acquire AM handle %s
LYy arpéEvi{ ®”A6 »&0H; \oC"1¢OuOU-

«Qf£1T  ,26" 1'0<0u0-

\o T6.0+ ARP-2-TIMERS_INIT Format: Failed to initialize timers

Sy arpéEVi{ ®”A6 »&40H; \oC"1¢OuOU-

«Qf£T  ,26" 1'0<0u0-

\o T6.0+ ARP-2-TIMER_SET Format: Failed to initialize new timer set

Ly arpéEvi{ A6 (»40H; \oC"1¢OuOU-

*QEf ,26" 170<Ou0-

\o T6.0+ ARP-2-CLI_INIT Format: Failed to initialize CLI
'y arpéEv{ &"A6 (»80H; \oC"¢OuOU-

*QEf ,26" 1"0<Ou0-

\o T6.0+ ARP-2-THR_CREAT Format: Failed to create thread %s: error %d
'y arpéEv{ &"A6 (»80H; \oC"1¢OuOU-

Q1T  ,26" 1'0<0u0-

\o T6.0+ ARP-2-THREAD_FAIL Format: Failed to start %s thread
LYy arpéEYi{ ®”A6 »&0H; \oC"1¢OuOU-

«Qf£T ,26" 1'0<0u0-

\o T6.0+ ARP-2-MQ_OPEN Format: Failed to open message queue %s: %s

Sy arpéEVi{ ®”A6 »&0H; \oC"1¢OuOU-

«Qf£1T  ,26" 1'0<0u0-

CiscoNX-OS *,9S T6.0+ ]JH _f,

[ oL-15994-01-J



%Y2%( Cisco NX-OS é*,9S T6.0+A TA6»5A |

|
\o T6.0+ ARP-2-MQ_RECV Format: Message queue receive failed on %s queue:
%s
'y Do é2€" \oC"¢OuUOU-
Q£ ,26" 170<Ou0-
\o T6.0+ ARP-2-MTS_BIND Format: Failed to do mts_bind for %s: %s
'y apéEv{ &"A6 (»840H; \oC"I¢OuOU-
*Q£1 ,26" 170<Ou0-
\o T6.0+ ARP-2-MTS_RECV Format: MTS queue receive failed on %s queue: %s
'y Do é2€" \oC"¢OuOU-
*QE£1 ,26" 1'0<Ou0-
ARP-3

\o T6.0+ ARP-3-TIMER_RSTART Format: Failed to restart timer 0x%p for %s
on %s

'y Do éA6 (»8 \oC"leOUOU-

*QEf $e»fé Dald-.
\o T6.0+ ARP-3-API_MQ_INVAL Format: ARP API

\o T6.0+ Invalid ARP message queue in %s

'y Do éA6 (»8 \oC"leOUOU-

Q1 $a»fe -Dald-
\o T6.0+ ARP-3-API_MTS_INVAL Format: ARP API

\o T6.0+ Invalid ARP MTS queue in %s
'Yy Do éA6 (»8 \oC"cOUOU-

Q£ $e»fé Dald-
\o T6.0+  ARP-3-API_MQ_SEND Format: ARP API
\o T6.0+ Failed to send %s to %s queue: %s

Yy Do é6A6 (»& \oC"EOUOU-

*QE£1 $e»fé Dald-.

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ ARP-3-API_MTS_SEND Format: ARP API

\o T6.0+ Failed to send %s to %s queue: %s
'Yy Do éA6 (»8 \oC"cOUOU-
*QE1l $e»fé -Dald-

\o T6.0+ ARP-3-MAC_ERR Format: Failed to get MAC address on %s for %s

'Yy Do éA6 (»8 \oC"cOUOU-
Q£ $e»fé Dald-.

\o T6.0+ ARP-3-ADJ_ADD Format: Failed to add adjacency for received

packet from %s on %s
Ly Té \om Té < _,66D%$6;600IMé4aec\ C\fiee&3LO 04

C5A 1u0-

*QfT $.0 &ilubOe$e»£e -pald.

\o T6.0+ ARP-3-ADJ_UPD Format: Failed to update adjacency for received

packet from %s on %s

Té \oae "D$6;600lIMcéa=¢ ARP4b’ f;]0C*E&E 612D

.'VA
uQ-
eQfT $.0 &ilubOe$z»ee Dald-

\o T6.0+ ARP-3-MBUF_ERR Format: Failed to get the remainder of packet,
expected %d, got %d bytes

'y Do éA6 (»a \oC"¢OUOU-

*QfT $.0 &ilubO$»£e -Dald-

\o T6.o0+ ARP-3-HDR_L2LEN_ERR Format: Received packet with incorrect

layer 2 address length (%d bytes)

'y Do éA6 (»8 \oC"leOUOU-

*QfT $.0 &ilub$=»£e -pald.

\o T6.0+ ARP-3-HDR_L3LEN_ERR Format: Received packet with incorrect

layer 3 address length (%d bytes)
'y Po éA6 (»4 \oC"l¢OUOU-
eQfT $.0 &ilubOe$z»ee Dald-

CiscoNX-OS *,9S T6.0+ ]H _f, .m
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\o T6.0+ ARP-3-HDR_ERR Format: Failed to get ARP header, expected %d,
got %d bytes

'Yy Do éA6 (»8 \oC"cOUOU-
eQfT $.0 &ilubOe$zE»ee Dald-

\o T6.0+ ARP-3-INVAL_HDR Format: Foundincorrect hardware/protocol type
in ARP header: %hu/%hu

'y Po éA6 (»4 \oC"l¢OUOU-
*QfT $.0 &ilubO$m»ee Dald-

\o T6.0+  ARP-3-INVAL_STATE Format: Unrecognized ARP entry state intimer
callback: %lu

'y Do éA6 (»8 \oC"leOUOU-

*QET $.0 &ilub$=»£e -Dald-

\o T6.0+ ARP-3-NO_MEM Format: Malloc failed for %s %s
JY *,9SéTU]IC +04¢ (»HCY% ul-e

*Qf£T TU]é/+a0+"02a&TU]1J Oulb-

\o T6.0+ ARP-3-NO_MBUF Format: Failed to allocate buffer for %s
Ly *,9SéD$6; TU] C6H 6¢%bU »HCY% 0l

*QE£1 ,2Q0 (Po;a®c¢50 ZTOAEUD -

\o T6.0+ ARP-3-PKT_ENCAP Format: Failed to encapsulate packet

'y Do éA6 (»& \oC"EOUOU-

*QfT $.0 &ilubO$»£e -Dald-

\o T6.0+ ARP-3-PKT_OUT Format: Failed to send packet to PM

'y PMT6.0+ XoGCla(wesbPicedbPU HCY% Ul

*QfT $.0 &ilubO$e»£e -pald.

\o T6.0+ ARP-3-MTS_DROP Format: MTS drop failed on %s queue: %s

'y Do éA6 (»8 \oC"leOUOU-

*QET $.0 &ilub$e»£e -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ ARP-3-VRRP_IOD Format: Adding vrrp arp for %s: invalid
interface %u

'Yy Do éA6 (»8 \oC"cOUOU-
eQfT $.0 &ilubOe$zE»ee Dald-

\o T6.0+ ARP-3-VRRP_ETH Format: Adding vrrp arp for %s: invalid
interface %s, not ethernet

'y Po éA6 (»4 \oC"l¢OUOU-
*QfT $.0 &ilubO$m»ee Dald-

\o T6.0+ ARP-3-VRRP_P2P Format: Sending vrrp arp for %s on invalid
interface %s, point-to-point

'y Do éA6 (»4 \oC"lcOUOU-

*QET $.0 &ilub$=»£e -Dald-
\o T6.0+ ARP-3-VRRP_NON_AM Format: Sending vrrp arp for %s on invalid
interface %s

'y Po éA6 (»4 \oC"l¢OUOU-

*QfT $.0 &iluO$xe»£e -Dald-

\o T6.0+ ARP-3-VRRPQ_IP Format: Trying to add invalid IP address %s on
%s to vrrp queue

'y Do éA6 (»8 \oC"lcOUOU-

*QfT $.0 &ilub$=»£e -pald.
\o T6.0+ ARP-3-VRRPQ_ADD Format: Failed to add VRRP queue entry for %s,
%s on %s

'Yy Do éA6 (»8 \oC"¢OUOU-

*QET $.0 &ilub$e»£e -Dald-
\o T6.0+ ARP -3 - REQ_IOD Format: Sending ARP request for %s on an
invalid interface %u,request from pid: %d

'y Po éA6 (»8 \oC"l¢OUOU-

*QE£1 $,0 &iluO$e»£é -Dald-
\o T6.0+ ARP-3-REQ_ETH Format: Sending ARP request for %s on invalid
interface %s, not ethernet,request from pid: %d

'y Do éA6 (»& \oC"lcOUOU-

*QfT $.0 &ilub$=»£e -pald-.
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\o T6.0+ ARP-3-REQ_P2P Format: Sending ARP request for %s on invalid
interface %s, point-to-point,request from pid: %d

'Yy Do éA6 (»8 \oC"cOUOU-
eQfT $.0 &ilubOe$zE»ee Dald-

\o T6.0+ ARP-3-REQ_NON_AM Format: Sending ARP request for %s on invalid
interface %srequest from pid: %d

'y Po éA6 (»4 \oC"l¢OUOU-

*QfT $.0 &iluO$e»£e DAl
\o T6.0+ ARP -3 - REQ_IP Format: Sending ARP request for %s IP address
%s on %s,request from pid: %d

'y Do éA6 (»4 \oC"lcOUOU-

*QET $.0 &ilub$=»£e -Dald-
\o T6.0+ ARP-3-REQ_ADD Format: Failed to add adjacency while sending
request for %s on %s,request from pid: %d

'y Po éA6 (»4 \oC"l¢OUOU-

*QfT $.0 &iluO$xe»£e -Dald-

\o T6.0+ ARP-3-GRAT_IOD Format: Sending gratuitous ARP for %s on an
invalid interface %u

'y Po éA6 (»4 \oC"l¢OUOU-
*QfT $.0 &ilub$=»£e -pald.
\o T6.0+ ARP-3-GRAT_ETH Format: Sending gratuitous arp for %s oninvalid
interface %s, not ethernet
'Yy Do éA6 (»8 \oC"¢OUOU-
*QET $.0 &ilub$e»£e -Dald-
\o T6.0+ ARP-3-GRAT_P2P Format: Sending gratuitous arp for %s oninvalid
interface %s, point-to-point
'y Po éA6 (»8 \oC"l¢OUOU-
*QE£1 $,0 &iluO$e»£é -Dald-
\o T6.0+ ARP-3-GRAT_NON_AM Format: Sending gratuitous arp for %s on
invalid interface %s
'y Po éA6 (»4 \oC"l¢OUOU-

*QfT $.0 &ilub$=»£e -pald-.

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ ARP-3-GRAT_IP Format: Sending gratuitous ARP request for %s IP

address %s on %s

'Yy Do éA6 (»8 \oC"cOUOU-

eQfT $.0 &ilubOe$zE»ee Dald-

\o T6.0+ ARP-3-IF_INDEX Format: Invalid interface index received from %d

Yy Do é6A6 (»& \oC"EOUOU-

*QfT $.0 &ilubO$m»ee Dald-

ARP-5

\o T6.0+ ARP-5-MQ_UNEXP Format: Received unexpected message (%d/%d) on

%s queue
'y Do éA6 (»& \oC"¢OUOU-
*QE£1 $e»fé -Dald.

\o T6.0+ ARP-5-MQ_MINOR Format: Received unknown minor message type (%d)

from %s
'y Do éA6 (»8 \oC"leOUOU-
-QE'T $e»£é Dald-.

\o T6.0+ ARP-5-MSG_UNK Format: Received unknown % type: %lu

'Yy Do éA6 (»8 \oC"cOuOU-
Q£ $e»fé Dald-.

\o T6.0+ ARP-5-MTS_OPC_UNK Format: Received unknown MTS opcode %lu

Yy Do é6A6 (»& \oC"EOUOU-

*QE£1 $e»fé Dald-.

\o T6.0+ ARP-5-UNK_SIG Format: Received unknown signal %d

'y Do éA6 (»& \oC"¢OUOU-

*QE£1 $e»fé Dald-.
\o T6.0+ ARP-5-UNK_MSG_MINOR Format: Unrecognized %s message minor type
%d

'y Do éA6 (»8 \oC"leOUOU-
*QE£1 $e»fé -Dald-.
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\o T6.0+ ARP-5-UNK_IP_NOTIF Format: Unrecognized IP address change
notification type %lu

'Yy Do éA6 (»8 \oC"cOUOU-

Q£ $e»fé Dald-.

\o T6.0+ ARP-4-SRCIP_ERR Format: Source address of received packet (%s)
does not match subnet on interface %s

'y LAN &'&bP a¢ 02 f20H A4Fa&a"(1@6;é6.30é6R,Q64C
=+04¢ (PHGCY% 100

Q£ 1i%&430Ca¢ A4aALE” f20H , 60064é f2o0H

4 6"0u0-

\o T6.0+ ARP-4-DUP_SRCIP Format: Source address of packet received from
%s on %s is duplicate of local, %s

'y 1é@6:bo" &"+0 IP < _,C30b Uiénro2C=+04a¢ (»H
C¥% ul-

+QE£1 1% 830Cac, £aALE” f20H , é0064é f20H

4 6"0u0-

\o T6.0+ ARP-4-DIR_BCAST Format: %s address of packet received from %s
on %s matches directed broadcast address, %s

Ly Té LAN &'&b Uro2 f2o0H 4Fa’(1@6; Q,"43é.30éR
,Q64C=-04a;, (»HC% u0-

Q£ 1i%&430Ca¢c A£aALE” f20H , é0064é f20H

4 6"0u0-

\o T6.0+ ARP-4-INVAL_IP Format: Received packet with invalid %s IP
address (%s) from %s on %s

Ly \& IP <_,éD$6; 1IM>0 "02C'&D a¢ (»>HC¥% ul-
Q£ 1% 830Ca, £aALE” f20H , é0064é f20H
4 6"0u0-
\o T6.0+ ARP-4-INVAL_MAC Format: Received packet with invalid %s MAC
address (%s) from %s on %s
Ly \& MAC <_,éD$6; 1IM>0 "02C&D 4¢; (»HC% ul-.

«QE£i 1i%&30CAa¢ A4AE” f20H , 60064é f20H
4 6"0u0-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ ARP-4-OWN_SRCMAC Format: Received packet with a local source
MAC address (%s) from %s on %s

'y oA~ MAC <_,éD$6;1M>0 "02C&iD 4¢ (»HC¥% U

O
*QE£1 1i%430Cac A£aALE” f20H , é0064é f20H
4 6"0u0-

\o T6.0+ ARP-4-DUP_IP Format: ARP entry found with duplicate IP address
%s on %s

'y 1é@6;bo" &"+0 IP < _,C30b Uiénro02C=+04a¢ (»H
C¥% ub-

«Qf1  1i%A30CAcEAALE" f20H , 6004é f20H

4 6"0u0-

ARP-6

\o T6.0+ ARP-6-SYSMAN_CLEANUP Format: Terminated by SYSMAN cleanup
signal

fYy o *,98 Lf;a4P O +7 #4a0.

Q£ »£ -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,
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ASCII-CFG T6.0+
ffaé” onrC6"i(»é ASCII .3 090ASCI-CFROT6. 0+ R a'yOuob-

ASCII-CFG-2

\o T6.0+ ASCII-CFG-2-ACFG_CONFIGURATION_APPLY_ERROR: Error encountered
while ASCII configuration was being applied. Please use show startup-config log
to view details.

'y  ASCll.30élj2 & 1R+ ¢é&Qf<C \oaxd ulOU-

Q£ »£ -Dald-

\o T6.0+ ASCII-CFG-2-ACFG_LIB_INVOKE_ERR: ASCII config library
invocation error: [chars].

Sy ASCI.30 +$ O Uié\ INJ4AP™ mi O & \oC"1¢OudU-

*QE£1 »£ -Dald-

\o T6.0+ ASCII-CFG-2-ACFG_ROLLBACK_FAILED: rollback operation failed
for atomic option.

Y iR6" J*Zfé 0"C6"2PCAEAZLDPU \o T6.0+4a0-
*QET ¢56.y0" 0"C6" §y"AOAEUD
\o T6.0+  ASCI-CFG-2-ACFG_ROLLBACK_UNDO_FAILED: Undo failed for atomic

Rollback,Please correct the error manually and retry rollback.

'y "orC6"é <90 :R6"GPIOé -OCaAE&AZADbPU \o T6.0+
O
£1

a»

»E£ Dalde

\o T6.0+ ASCII-CFG-2-ACFG_SYSLOG_INIT_FAILED: ASCII config Syslog Init
Error.

'y ASCll.3024P O Syslog E¥{ & \oC"1¢OuOU-

*QEf »£ -Dal-
ASCII-CFG-3

\o T6.0+ ASCII-CFG-3-ACFG_MTSERROR: [chars].

'y ASCll-cfg-servé®0 "0~ C6" J .,904 MTS \oC"l1¢OuOU- \oé"i¢
OU&f9 ,;C+$ D ud-

*QE£1 »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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ASCII-CFG-6

\o T6.0+ ASCII-CFG-6-ACFG_CHECKPOINT_CREATED: created configuration
checkpoint.

'y 0064é304 6"P f;CP'D 0OU-

*QEf »£ -Dald-

\o T6.0+ ASCII-CFG-6-ACFG_CHECKPOINT_DELETE_ALL: Deleted all the
configuration checkpoints.

Ly Ob64é304 6"P f; H ~c&°p udU-.

Q£ »£ -Dald-

\o T6.0+ ASCII-CFG-6-ACFG_CHECKPOINT_DELETED: deleted configuration
checkpoint.

'y 304 6" P f;CaD U \o T6.0+40+

*QE£1 »£ -Dald-

\o T6.0+ ASCII-CFG-6-ACFG_MAX_CHECKPOINTS: Maximum no of checpoints
reached, Removing the oldest checkpoint.

JY 4 6"P f;™é 4¢eleOUUG"Y ¢4 6"P f; &44°04¢u0-

*QE£1 »£ -Dald-

\o T6.0+ ASCII-CFG-6-ACFG_ROLLBACK_ATOMIC: Performing configuration
rollback with atomic option.

Sy atomi®® ;R6"90 J*Zf 620430 07C6" s- Od¢ d¢A
\o T6.0+a0-

*QE£1 »£ -Dald-

\o T6.0+ ASCII-CFG-6-ACFG_ROLLBACK_BEST: Performing configuration
rollback with best-effort option.

'y besteffor®fOL,; H 0;90 J*Zf 620430 0~C6" s- Q&
d¢A \o T6.0+40-

*QET »£ -Dald-

\o T6.0+ ASCII-CFG-6-ACFG_ROLLBACK_FIRST_ERR: Performing configuration
rollback with stop-at-first-failure option.

Ly stop-at-first-failureO EA \oa—[90 J*Zf 6120430 07~C6" s- O
a¢ a4¢A \o T6.0+a0-

*QE£1 »E -Dale
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ATIMERS T6.0+
ffaé” ATIMERS T6.0+&Bsa yOule

ATIMERS-3

\o T6.0+ ATIMERS-3-ERROR Format: %s

Y "9 | 2 Qo APIC \o100uOU-

Q1 S$a»fe -Dald-

\o T6.0+ ATIMERS-3-OPER Format: timer failed to %s, error %s
D\To29¢2 QoGbp "It

Yy 9 2 Qo APIC \010000U-

*QE£1 $e»fé Dad-.

\o T6.o0+ ATIMERS-3-START Format: starting timer Ox%p: heap notallocated
for set id %u

Ly "9 | 2 Qo APIC \o10000U-

*QEf $e»fé Dald-.
\o T6.0+ ATIMERS-3-STOP Format: stopping timer 0x%p: heap not allocated
for set id %u

Y "9 | 2 Qo APIC \o010000U-

Q1 $a»fe -Dald-

M CiscoNX-OS *,9S T6.0+ JH _f,

OL-15994-01-J



| %2 %( CiscoNX-OS é*,9S T6.0+A TA6»5A

ifae” BGPT6.0+&Bsa'yOuUl-
BGP-1

\o T6.0+ BGP-1-FATAL Format: Fatal error: %s: %s

Yy Do é2€" \oC"¢OuUOU-

*QfT restartCLI & Qf< 6P04&fPo@f; clAGOUOD-

\o T6.0+ BGP-1-UNKNOWNFATAL Format: Unknown fatal error %d: %s
Ly Do é2€" \oC"1¢OuUOU.

*QfT restartCLI & Qf< 62P04&fPo@f; c/AGOUOD-

BGP-2

\o T6.0+ BGP-2-MTSBIND Format: Unable to bind to MTS SAP for %s, sap %d:
%s

'y BGPC"lb>z0P0 T6.0+ Xo b aEu® aou-
*Qf1 restartCLI & Qf< 6R04&fPo@f; c/AGOUOD-

\o T6.0+ BGP-2-APIMTSBIND Format: Unable to bind to MTS SAP for %s, sap
%d: %s

Yy BGP"\ f;C"lb>&6”0 T6.0+ Xo P‘aEu® aou.

*QfT restartCLI & Qf< 6RPOA4&fPo@f; clAGOUOD-

\o T6.0+ BGP-2-APIINIT Format: Unable to initialize %s API

'y BGPEEW{ &"Ab6 (»4 \oC"1¢cOuOU-

*QfT restartCLI & Qf< 6RP0OA4&fPo@f; clAGOUOD-

\o T6.0+ BGP-2-ATTACH Format: Unable to attach to %s
'Yy BGPEéEY{ &"Ab6 (»4 \oC"l¢OuUOU-
*QFfT restartCLI & Qf< 62P04&fPo@f; clAGOUOD-
\o T6.0+ BGP-2-URIBREG Format: Unable to register with URIB for
[afi/safi:%d/%d]
'y BGPEéEY{ &"A6 (»4 \oC"l¢OUOU-

*QfT restartCLI & Qf< 6204&fPo@f; c/aGOuUOD-

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ BGP-2-SRVREG Format: Unable to register with %s
'Y BGPEEW{ &"Ad6 (»8 \oC"1¢OuOU-

*QEfT restartCLI & Qf< 62P04&fPo@f; clAGOUOD-

\o T6.0+ BGP-2-AFINIT Format: Error initializing address family, (%d)
'Y BGPEEW{ &"Ad6 (»8 \oC"1¢OuOU-

*QfT restartCLI & Qf< 62P04&fPo@f; c/aGOuUOD-

\o T6.0+ BGP-2-AFINITFUNCS Format: Error initializing address family
function vectors,(%d)

'y BGPEEY{ ®"AG (»& \oC"I¢OUOU-

*QfT restartCLI & Qf< 6204&fPo@f; c/aGOuUOD-

\o T6.0+ BGP-2-IPV6REG Format: Unable to register with IPv6

'y BGPEEW{ &"Ab6 (»4 \oC"1¢cOuOU-

*QfT restartCLI & Qf< 6RP0OA4&fPo@f; clAGOUOD-
\o T6.0+ BGP-2-U6RIBREG Format: Unable to register with U6RIB for
[afi/safi:%d/%d]

'Yy BGPEEW{ &"Ad6 (»8 \oC"1¢OuOU-

*QfT restartCLI & Qf< 62P04&fPo@f; c/aGOuUOD-

\o T6.0+ BGP-2-TSP_INIT Format: Unable to initialize with TSP
'y BGPEEW{ &@"Ad6 (»& \oC"1¢Ou0OU-

*Qf1 restartCLI & Qf< 6R04&fPo@f; c/lAGOUOD-

\o T6.0+ BGP-2-SYSMGR_QUERY Format: Failed to query sysmgr for %s
y J1AOH; \oC"1¢OuOU-
*QfT restartCLI & Qf< 6204&fPo@f; c/aGOuUOD-
\o T6.o0+ BGP-2-SYSMGR_CONDVERIF Format: Sysmgr conditional verify
failed
Ly JARO0H; \oC"1¢OuO0U-

*QfT restartCLI & Qf< 6P04&fPo@f; c/AGOUOD-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ BGP-2-PTHREAD Format: procket_pthread_create failed for %s:
error %d
'y Do é2€" \oC"¢OuUOU-
*QfT restartCLI & Qf< 62P04&fPo@f; c/aGOuUOD-
\o T6.0+ BGP-2-MQLOOP_INIT Format: Message queue loop %s, %s, Error - %s
'y BGPEéEY{ &"A6 (»4 \oC"l¢OUOU-
*QfT restartCLI & Qf< 6204&fPo@f; c/aGOuUOD-
\o T6.0+ BGP-2-PEERSHALTED Format: BGP %s shutdown due to no memory
condition (%s)
JY *,9SéTUJC /+04¢ (PHC% uOl-
*QEl @6;bo"30 <0A&aTU]é2D2, & Oul- IDGH>ax&*V6;3 f
Oa; BGPG 064a"] Oul- BGP &0 (»aTU]C¥% «'é€"]1i \o
C¥bpUéa” BGP c/aGOuO-
BGP-3
\o T6.0+ BGP -3 - NEXTHOPADD Format: [string] Couldnt add next-hop to
RNHDB for%s/%d,error%d'
LY "02C BGP@",;N6J ]Jlfi:02Lo,e;=aEu0 adOUUA=x=eT
Uljé ~C((A ul-
*Q£1 BGP éTU]C /+04as,U+'é"*02&TU]1J O £”@6;bo"
t* «O4aTU]é2D2, &6 OuOIDGHa&*V6;3 fO4, BGPG O
64"] Oud- BGP & 62 (»4TU]C% «'é”]1A \oC¥xbUEéA” BGP
claGoul-
\o T6.0+ BGP -3 - NEXTHOPDEL Format: [string] Couldnt delete next-hop
from NHDB for %s/%d,error%d'
'y Do éf£l (»& Lf;C"¢OuOU-
*QET ,2Q0 (Po;ac¢sd ZTOAEUD -
\o T6.0+ BGP -3 - BRIBADD Format: [string] Couldnt add dest to BRIB for
%s/%d'
fy BGPCJ_H ", BGPRIB&lJ aEu0 aOU-. BGPJ .,éTU]C /+
O4a¢ (PHC¥®% 00
*QET BGP éTU]C /+O4asU+'&"%02aTU]1)J O £7@6:bo"
t* «O4aTU]é2-P2, 6 OuOIDGHa&*V6;3 fO4, BGPG O
64"] Oud- BGP & 6! (»4TU]C% «'@”]1A \oC¥xbUEéA” BGP

cacoube.

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ BGP-3-BRIB_ADD_INT Format: Internal error in adding to BRIB: %s

'Y BRIBa&D, 1) 0 4U&]1i \oC"l¢eOQuOU- BGPJ .,éTU]C /+O
d¢ GHCY% ul-

Q£ BGP éTU]C /+04asU+'é"7022TU]1J O £7@6:bo"

t* «O4aTU]é2D2, 6 OuOIDGHa&*V6;3 fO4, BGPG O
64"] Oub- BGP & 6l2 (»aTU]C% «'&”"]1A \oC¥%pbUEA”" BGP
claGoul-

\o T6.0+ BGP-3-BRIBDEL Format: [string] Couldnt delete dest from BRIB
for %s/%d'

'y Do éfl (»& Lf;C"¢OuOU-
*Q£1 ,2Q0 (Po;aecsd ZTOAEUD
\o T6.0+ BGP-3-FINDAGGR Format: [string] Did not find aggregate path for
entry %s/%d
'y BGPC”.30&au04p& ">0 Uué]li:02tlg -xR1 0O aoU-

Q£ ,2Q0 (Po;a&ecs6 ZTOAEUD

\o T6.0+ BGP-3-AGGADD Format: [string] Couldnt add aggregate for %s/%d’

'y BGP C"4g&, Jli:02tlge;=aE00O aoOU- BGPJ .,éTU]C /+
O4a¢ (PHC¥®% 00

Q£ BGP éTU]C /+0O4asU+'&"%02a&TU]1)J O £7@6:bo"

t* «O4aTU]é2-P2, 6 OuOIDGHa&*V6;3 fO4, BGPG O
64"] Ould- BGP & 62 (»&TU]C% «'&”]1fi \oCxnbUEA” BGP
c/aGOub-

\o T6.0+ BGP-3-AGGDEL Format: [string] Couldnt delete aggregate for
%s/%d'

LYy Do éfl (»8 Lf;C"eOudU.
*QE£1 ,2Q0 (Po;a&ecs6 ZTOAEUD

\o T6.0+ BGP-3-NONBESTPATH Format: [string] Non bestpath in attr. path
chain for %s/%d

Sy ]1AO0H; \0C"IEOUOU-

‘QET  &fP0@f; c/AGOUOD

\o T6.0+ BGP-3-LIST Format: %s
Ly J1IA0H; \oC"1¢OuOU-

*QEf ,2Q0 (Po;ac¢sd ZTOAEUD -

Cisco NX-OS *,9S T6.0+ JH _f,
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||
\o T6.0+ BGP-3-ATTRID_OP Format: Failed to %s attribute ID
'y BGPé&” BGPPATH ;]FXo; I"6"¢ f:6",é6 cauUeé |Ca
Eud aouU.
*QE£1 ,2Q0 (Po;a&ecs6 ZTOAEUD
\o T6.0+ BGP-3-ATTRAVL_OP Format: Failed attribute external database
operation: %s, id %lu
'y BGPGC” ;]JFXo; 1i:02Lo0,2b s- AEUO 40U
*QE£1 ,2Q0 (Po;aecsd ZTOAEUD
\o T6.0+ BGP-3-VRF_CTX Format: VRF %s, failed %s
Sy ]1A0H; \oC"1¢OuOU-
*QEf ,2Q0 (Po;ac¢sd ZTOAEUD -
\o T6.0+ BGP-3-VRFAVL_OP Format: Failed vrf database operation: %s, vrf
%s id %lu
'Yy BGPCvrf:02L0,2b s-aE0u0 a0OU-
*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -
\o T6.0+ BGP-3-TBLAVL_OP Format: Failed table database operation: %s,
table %s id %Ilu
'y BGPC9o0l" :02Lo0,2b s-aEu0 aoOU-
*QE£1 ,2Q0 (Po;aecsd ZTOAEUD
\o T6.0+ BGP-3-PEER Format: Peer %s, failed %s
Sy ]1A0H; \oC"1¢OuOU-
*QE£1 ,2Q0 (Po;aecsd ZTOAEUD
\o T6.0+ BGP-3-TBLCTX_INIT Format: VRF %s, %s, table %s: Table
initialization failed
'y BGPClifi:o02Lo,tlg E¥%{aEU0 aoU- BGPJ .,éTU]C /+
O4a¢ (»HC¥®% 0Ol
*Q£1 BGP éTU]C /+04a,U«'&"%022TU]1J O £7@6;bo"
t* «O4aTU]é2P2, 6 OuOIDGHa&*V6;3 fO4, BGPG O
64a"] Oub- BGP & 6l2 (»aTU]C% «'@”"]1A \oC¥%bUEA" BGP

claGOul-

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ BGP -3 - BRIB_RDADD Format: [string] Couldnt add rd info %s to
BRIB'

'Y BGPCJ_H ", BGPRIBal) aEU0O adOU. BGPJ .,éTU]C /+
O4a¢ (PHC¥®% 00

*Q£1 BGP éTU]C /+04acU+'é"%02&TU]1J O £7@6;bo"

t* «O4aTU]é2-P2, 6 OuOIDGHa&*V6;3 fO4, BGPG O
64"] Oud- BGP & 6! (»4TU]C% «'@"]1A \oC¥xbUEéA” BGP
claGOul-.

\o T6.0+ BGP -3 - TBLATTRAVL_OP Format: Failed table attribute database
operation: %s, id %lu

'y BGPC9o0l" ']JFXo; :02Lo,2b s-aEU® aoU-.

*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -

\o T6.0+ BGP-3-RDINFO Format: VRF %s, %s, table %s: rdinfo %s failed

'Yy BGPCJ]li:02Lo,tlg E¥{aEu0 aoU- BGPJ .,éTU]C /-
O4a¢ (PHC¥®% 100

*Q£1 BGP éTU]C /+04acU+'é"%02&TU]1J O £7@6;bo"

t* «O4aTU]é2D2, &6 OuOIDGHa&*V6;3 fO4, BGPG O
604"] Oud- BGP & 6! (»4TU]C% «'@”]1A \oC¥xbUéA” BGP
claGOul-.

\o T6.0+ BGP-3-RPMHANDLE Format: RPM notification handle does not match
existing handle for policy %s

'y Do éf£l (»& Lf;C"¢OuOU-

*QET ,2Q0 (Po;ac¢s0 ZTOAEUD -

\o T6.0+ BGP-3-RPMBIND Format: RPM policy bind failed for %s %s
LYy Do éfl (»8 Lf;C"eOudU.

*QE£1 ,2Q0 (Po;a&ecs6 ZTOAEUD

\o T6.0+ BGP-3-PLCYOUT Format: Cannot add reference to policy out info
for route-map %s

'y BGPC">P]*o0é f;] PraEUO aoU-

*QfT restartCLI & Qf< 6204&fPo@f; c/aGOuUOD-

\o T6.0+ BGP-3-PLCYRNHATTACH Format: Couldnt attach to policy RNH info
for policy %s,error:%s'

'y Pl*o 620 4U&]1fi \oC"1¢OuOU-

«QfT BGPETU]C/~04ac,U+'6"%022TU]1J O £”@6;bo"

t* +0A4aTU]é2D2, & OUOIDGH®E*VE;3 fO4¢ BGPG O
64"] Oubs BGPao”R »aTU]JCY% «'&”]1i \oC¥%bUéa” BGP
caAGOuO-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ BGP-3-PLCYRNHDETACH Format: Couldntdetach from policy RNH info
for policy %s,error:%s'

LY J1IAO0H; \oC"1¢OuOU-

Q£ ,2Q0 (Po;aecs6 ZTOAEUD

\o T6.0+ BGP-3-PLCYRNHSETUP Format: Couldnt setup rnh notifications for
policy %s,error:%s'

Ly Pl*o 6120 4Ue]li \oC"EOUOU-

*QET BGP éTU]C /+O4asU+'&"%022TU]1J O £7@6:bo"

t° «O4aTU]é2D2, & OUOIDGH=*V6;3 fO4¢ BGPG O
64"] OuO+ BGP&6” »4TU]C% +'&"]1f \oC%pPUEA” BGP
cacoube.

\o T6.0+ BGP-3-CLISET Format: Unable to set %s inheritance for %s
LY J1IAO0H; \oC"1¢OuOU-

*QfT restartCLI & Qf< 6P0A4&fPo@f; clAGOUOD-

\o T6.0+ BGP-3-DAMPCFG Format: Both policy and global dampconf exist
Sy JIA0H; \oC"1¢OuOU-

*Q£1 ,2Q0 (Po;ac¢50 ZTOAEUD -

\o T6.0+ BGP-3-ACLTESTADD Format: Failed to add %s peer policy test
Sy JIA0H; \oC"1¢OuOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-MTSRECV Format: MTS receive failed on %s queue: %s

Yy Do éf (»4 Lf;C"cOuUOU.

*QfT $.0 &ilube$e»£e -pald.

\o T6.0+ BGP-3-MTSDROP Format: MTS drop failed on %s queue: %s
'y Do éfl (»& Lf;C"¢OuOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-MTSSEND Format: MTS send() error to SAP %d, opcode %d: %s
LYy Do éfl (»8 Lf;C"eOudU.

*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ BGP-3-API_UNEXP_RESP Format: Received unexpected message from
SAP %d, opcode %d, address %s, ignore it

LYy Do éfl (»8 Lf;C"eOudU.

eQfT $.0 &ilubOe$zE»ee Dald-

\o T6.0+ BGP-3-APIMTSRECYV Format: MTS receive failed on %s queue: %s
Ly Do éf£ (»8 Lf;C"¢OuOU.

*QfT $.0 &ilubO$m»ee Dald-

\o T6.0+ BGP-3-APIMTSDROP Format: MTS drop failed on %s queue: %s

Yy Do éf (»4 Lf;C"eOuUOU.

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-APIMTSSEND Format: MTS send() error to SAP %d, opcode %d:

'y Do éf£l (»& Lf;C"¢OuOU-

*QET ,2Q0 (Po;ac¢s0 ZTOAEUD -
\o T6.0+ BGP-3-ULIBREG Format: Unable to register with ULIB for
[afi/safi:%d/%d]

'y BGPéEéEY{ &"A6 (»4 \oC"l¢OUOU-

*Qf1 restartCLI &Qf< 6R04&fPo@f; c/laAGOUOD-

\o T6.0+ BGP-3-URIBRNH Format: URIB RNH error: %s
Ly J1A0H; \OQ'”!¢OUOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-U6RIBRNH Format: U6RIB RNH error: %s
Ly J1A0H; \OQ'”!¢OUOU-

*QEf ,2Q0 (Po;ac¢sd0 ZTOAEUD -

\o T6.0+ BGP-3-ULIBRNH Format: ULIB RNH error: %s
Ly JARO0H; \oC"1¢OuO0U-

*QEf ,2Q0 (Po;axc¢s0 ZTOAEUD -

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ BGP -3 - RNHCB Format: RNH %s error: %s
LY J1IAO0H; \oC"1¢OuOU-

*QEf ,2Q0 (Po;ac¢sd0 ZTOAEUD -

\o T6.0+ BGP-3-URIBRT Format: URIB RT error: %s
LY J1IAO0H; \oC"1¢OuOU-

¢ QET ,2Q0 (Po;aecs6 ZTOAEUD

\o T6.0+ BGP-3-RESTARTTYPE Format: Error in learning restart type
Sy JIA0H; \oC"1¢OuOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-LISTEN_SOCK Format: Failed to listen on %s BGP TCP port
Sy JIA0H; \oC"1¢OuOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-SOCK_ERR Format: Socket (%d/%d): %s
Ly JARO0H; \oC"1¢OuO0U-
*Q£1 ,2Q0 (Po;aecsd ZTOAEUD
\o T6.0+ BGP -3 - SOCKOPEN Format: TCP connection for peer %s already
open, fd %d, state %s
LY J1IAO0H; \oC"1¢OuOU-

¢ QE1 ,2Q0 (Po;a&ecs6 ZTOAEUD

\o T6.0+ BGP-3-SOCKCREATE Format: Cannot create socket for peer %s: %s
Ly 0$6:2b & \oC"1¢OuUOU-

*QE£1 ,2Q0 (Po;ac¢50 ZTOAEUD -

\o T6.0+ BGP-3-SOCKBIND Format: Cannot bind local socket for peer %s: %s

Yy 0$6;2P & \oC"¢OUOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP -3 - SOCK_ACCEPT Format: Socket (%d/%d) accept: %s
Ly J1IRO0H; \oC"1¢OuOU-

*Q£1 ,2Q0 (Po;aecsd ZTOAEUD

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ BGP-3-SOCKNONBLOCK Format: Couldnt make fd %d non-blocking: %s'
'y 0$6;2b @& \oC"lcOUOU-

*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -

\o T6.0+ BGP-3-SENDBUF Format: Error manipulating sendbuf: %s
LY J1IAO0H; \oC"1¢OuOU-
¢ QET ,2Q0 (Po;aecs6 ZTOAEUD
\o T6.0+ BGP-3-NEGWRITE Format: Negative nr of %d bytes left to write
to peer %s
y J1AOH; \oC"1¢OuOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-MD5PASS Format: Cannot set MD5 password %s for peer %s
Ly JARO0H; \oC"1¢OuO0U-

*Q£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-EBGPTTL Format: Unable to set EBGP TTL for peer %s, fd %d
LYy Do éf (»8 Lf;C"eOudU.

*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -

\o T6.0+ BGP-3-IPTOS Format: Unable to set IP TOS bits for %s, fd %d
LYy Do éfl (»8 Lf;C"eOudU.

¢ QET ,2Q0 (Po;aecs6 ZTOAEUD

\o T6.0+ BGP-3-LOWMEM Format: Low on heap memory

JY *,9SéTUJC /+04a¢ (PHC% uO-

*QE£1 @6;bo"30 <0AaTU]é2D2, & Oul- DG ae*V6;3 f
Oa¢ BGPG 064a"] Oud-. BGP & 62 (»84TU]C% «'é&”]1f \o
CwxnbUéa” BGP c/aGOud-.
\o T6.0+ BGP-3-ALLOCFAIL Format: %s malloc (%ld) failed for: %s

JY *,9SéTUJC /+04¢ (PHC% uOl-

*QEl @6;bo"30 <0A&aTU]é2D2, & Oul- IDGH>ax&*V6;3 f

Oa; BGPG 064a"] OuO- BGP & 6!2 (»4TU]C% «'&”]1 \o
C¥bpUéa” BGP c/aGOuO-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ BGP-3-PFX_NOMEM Format: Could not allocate %s for %s/%d
fY *,9SéTU]IC +04¢ (»HCY% ul-.
*QE£1 @6;bo"30 +04aTU]é2DP2, & Oul- IDGH»ae*V6;3 f
Oa¢; BGPG 06a"] Oud- BGP =62 (»84TU]C% +'é&”]1f \o
GC%bUéa” BGP c/aGOuOl-

\o T6.0+ BGP-3-NOMEMORY Format: Could not allocate %s
JY O *,9SéTU]IC /+04¢ (»HCY% 1u0-.
*QE£1 @6;bo"30 +04aTU]é2P2, & Oud- DG ®e*V6;3 f

Oa¢ BGPG 06a"] Oud-. BGP & 62 (»8TU]C% +'é&”]1f \o
C%bUéa” BGP c/aGOuOl-

\o T6.0+ BGP-3-NOBUF Format: [string] Unable to get buffer for %s msg
to peer %s
LY J1IAO0H; \oC"1¢OuOU-

*QET ,2Q0 (Po;ac¢s0 ZTOAEUD -

\o T6.0+ BGP-3-ILLARGS Format: %s called with illegal arguments
LY J1IAO0H; \oC"1¢OuOU-

¢ QET ,2Q0 (Po;a&ecs6 ZTOAEUD

\o T6.0+ BGP-3-INTERNAL Format: Internal error %d: %s
Ly JIA0H; \oC"1¢OuOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-NBRERR Format: %s Peer error: %s
Ly J1A0H; \OQ'”!¢OUOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-ASSERT Format: %s:%d: Assertion “%sfailed.'
Ly JARO0H; \oC"1¢OuO0U-

*Q£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-PATH_DEL Format: Failed to destroy path (%s), error %d
LY BGPJ ., éTU]IC /+0&¢ (»HC% ul-
*QEl @6;bo"30 <0A&aTU]é2D2, & OuOl- IDG>ae*V6;3 f

O4a¢ BGPG 064a"] oud- BGP &2 6!2 (»4aTU]C% «'&”]1f \o
CwxnbUéa” BGP c/aGoOud-.
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\o T6.0+ BGP-3-TIMER_START Format: Couldnt start %s timer %s'

LY J1IAO0H; \oC"1¢OuOU-

*QEf ,2Q0 (Po;ac¢sd0 ZTOAEUD -
\o T6.0+ BGP-3-THREAD_SHUTDOWN Format: Problem shutting down thread %s:
Operation - %s, Error - %s

'y Do éf (»a Lf;¢"¢OuOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-MQLOOP_SHUTDOWN Format: Couldnt shutdown %s message queue
oop'

'y Do éfl (»& Lf;C"¢OuOU-

*QEf ,2Q0 (Po;ac¢sd ZTOAEUD -
\o T6.0+ BGP-3-APPLY_BESTPATH_CFG Format: Failed to apply bestpath
configuration: %s

LYy Do éfl (»8 Lf;C"¢eOudU.

*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -
\o T6.0+ BGP-3-RESTARTINIT Format: Unable to determine restart status
and initialize

'y BGPEEW{ &"Ad6 (»& \oC"1¢OuOU-

*QfT restartCLI & Qf< 6204&fPo@f; c/aGOuUOD-

\o T6.0+ BGP-3-PATH_STALE Format: [string] %s path being %s, for %s/%d
from peer %s, should not be stale

Ly JARO0H; \oC"1¢OuO0U-

*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -

\o T6.0+ BGP-3-SRAND Format: Failed to set random seed
'Y BGPEEW{ &"Ad6 (»8 \oC"1¢OuOU-

*QFfT restartCLI & Qf< 62P04&fPo@f; clAGOUOD-

\o T6.0+ BGP-3- EVENT_WAIT Format: Error while waiting for %s event,
error - %s

Ly Do éf£ (»8 Lf;C"¢OuOU.

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD
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\o T6.0+ BGP-3-INVHDR Format: Peer %s sent unexpected header pattern

Ly T6.0+ KG630éQo0 0 D20ofCu2a0U-

*QE£1 G |f# "02C\OE30D a¢ £4 6"000- +OU'xe”
-be 04G "] Oul-

\o T6.o0+ BGP-3-ASPREPEND Format: Expected AS sequence or entry sequence,
got %d/%d

'y ASD,é55a&f O 40Uz \oC"¢OUOU.

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-COMLEN Format: Community sets exceeded maximum allowed

Yy &RX>9 1) O 4U&]1iU4¢el-OuOU-
*QEf ,2Q0 (Po;ac¢sd0 ZTOAEUD -

\o T6.0+ BGP-3-COMADD Format: Error occurred in community addition, no
action taken

LY &RX>9 1) O 4U&]1A \oC"icOuOU-

Q£ ,2Q0 (Po;a&ecs6 ZTOAEUD

\o T6.0+ BGP-3-ASLEN Format: AS-PATH prepend length exceeds internal

‘Y ASD, 554 f O 4Ue"]1AU4¢ @l OUO U
*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-3-SOFTINCAP Format: Peer %s not capable of soft refreshin,
operator intervention needed: %s

Ly fo2é8"+$ D 4¢ G é0H; JH_6*X s-aEud aoU.

*QET -De 047G dé& 1.6;000-

\o T6.0+ BGP-3-SNMP_API_DATA Format: Message data is NULL
LYy 02 ;=0 Uué SNMPT6.0+éTU]JC% 00 -
eQfT $.0 &iluOe$zE»ee Dald-

\o T6.0+ BGP-3-CONDSRV_CLEANUP Format: Conditional Service cleanup
request failed, %s

'y SysmgrCBGPé*V6;3 -Dp 80uUO0OU-

*QE£1 $e»fé Dald.
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BGP-4

\o T6.0+ BGP-4-SLAB_HOLD Format: Not able to hold element from %s slab
Sy NIE é T, ,aE00 -
*QfT $.0 &ilubO$=»£e -pald.
\o T6.0+ BGP-4-MAXPEERS Format: Trying to configure more than %d
neighbors
'Yy BGPC"30 (»8G ™éU4¢al-OulOU-
*QET $.0 &ilub$e»£é -Dald-

\o T6.0+ BGP-4-PFXEXCEED Format: [string] No. of prefix received from
%s exceeded configured limit %d

'y BGPé Il .30™ y Eé”0;CG £ 1IM>D 4EuOU-
*QE£1 G ]f# "02C\OE30b a¢ £4 6"0u0- eQU+' e
Pe 04G "] Oul-

\o T6.0+ BGP-4-PFXWARN Format: [string] Number of prefixes received from
%s reached %d, maximum %d

Y G £ IM>b 4EU”o;™C/ TOE¢ 0 /AAUUG” BGP &/ T 1¢'O0
OuU-.
*QEf G ]f# "02C\OE30b 4¢ £4 6"000- cOU+s' me”

Pe 004G "] Oul-
\o T6.0+ BGP-4-MQUNEXPECT Format: Recieved unexpected message (%d/%d)
on %s queue
Ly Do éf£l (»8 Lf;C"¢OuOU.
*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-4-MTSUNKOPC Format: Recieved unknown MTS message on %s
queue, opc %d

'y Do éfl (»& Lf;C"¢OuOU-

*QE£1 ,2Q0 (Po;aecsd ZTOAEUD

\o T6.0+ BGP-4-MTSNOMSG Format: No MTS payload found on %s queue, opc %d
LYy Do éfl (»8 Lf;C"eOudU.

*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -
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\o T6.0+ BGP-4-TXLIST Format: %s
LYy Do éfl (»8 Lf;C"¢OudU.
*QEf ,2Q0 (Po;ac¢s0 ZTOAEUD -
\o T6.0+ BGP-4-NODAMPMEM Format: [string] Unable to dampen prefix %s/%d
from peer %s due to no memory
'Yy BGPETU]C /+04¢ (PHC% uOl-
*QfT $.0 &ilubO$m»ee Dald-
\o T6.0+ BGP-4-NORID Format: Peer %s sent us 0.0.0.0 as its router-id
'y BGPG &£ u28”o2 id CIM>D 4EUOU-.
*QE£1 G ]f# "02C\OE30b a¢ £4 6"0u0- eQUe e
Pe 004G "] Oul-
\o T6.0+ BGP-4-SAMERID Format: Peer %s uses same routerid as us
'y BGPG Clénr02a+0"02 id 6204¢u0-
*Q£T "o~ "o2uUé]Uo; rno2¢aU &£ 144 202 ID &30000-
\o T6.0+ BGP-4-1ISSU_CHECK Format: Not ready for ISSU: Graceful Restart
or hold time check failed
LY 1R0UE-,™éEG é#_o,HN 1,20;C: .ol*"edbPa¢s A" No~

<(@4FC, 64 0Co(4F APA&cUO-
eQET $.0&iluO+$@»Ee -DAO

\o T6.0+ BGP-4-1SSU_HOLDTIME Format: ISSU will be affected if hold time
is less than system switchover time (%d seconds)

'y No”<({4FC*,9S , 64 0Co(4F Apasu0-

*QfT $.0 &ilub$=»£e -pald.
\o T6.0+ BGP-4-SNMP_REGFAIL Format: Failed to register MIB with the SNMP
agent, the BGP MIB will be unavailable. (%s)

'y /laG(e MIB™3sCAaEWO adou.

*QET $.0 &ilub$e»£e -Dald-.

\o T6.0+ BGP-4-SNMP_DEREGFAIL Format: Failed to deregister MIB with the
SNMP agent (%s).

Yy *V6:3 f(ee MIB "3s é.4°CAEQ0O aoUe

*QfT $.0 &ilubO$E»£e -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,
| oL-15994-01-J



%Y2%( Cisco NX-OS é*,9S T6.0+A TA6»5A |

|
BGP-5
\o T6.0+ BGP-5-BADSIG Format: Should not have received signal %d
'y Do éf£ (»& Lf;C"¢Ou0OU.
*QfT $.0 &ilubO$=»£e -pald.
BGP-6

\o T6.0+ BGP -6 - START Format: BGP process %s startup, reason: %s
Ly +$ D &g BGPJ .,C/aGOuOU-

*QEf $e»fé Dald-.

\o T6.0+ BGP -6 - ADJCHANGE Format: neighbor %s %s %s

'y BGP.6*zfC#O% b Uarad.-uUé”.6*ZfC*V6;3 b U"a
Rale

Q1 $a»fe -Dald-

\o T6.0+ BGP -6 - EXIT_DECONFIG Format: BGP process exiting due to
deconfiguration

'y +$D a4, BGPJ .,é30C.4°P uOU-

*QE£1 $e»fé Dald-.

\o T6.0+ BGP-6- EXIT_RESTART Format: BGP process exiting due to manual
restart

Ly 48D ag BGPJ .,Cc/aG al-

*QEf $e»fé Dald-.

\o T6.0+ BGP-6-EXIT_UNKNOWN Format: BGP process exiting due to unknown
reason

Y yallrae BGPJ .,C&LOUO-

*QE£1 $ae»féd Dad.
\o T6.0+ BGP-6-MEMSTAT Format: Hit low memory condition - Free: %u MB,
Min free: %u MB

JY O TU]/+<éA 28 uOU.

*QE£1 $e»fé Dad.
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BIOS DAEMON T6.0+
ffaé” BIOSIBIOS DAEMONIOT6.0+x R a'yOuob-

BIOS_DAEMON-2

\o T6.0+ BIOS_DAEMON-2-BIOS_DAEMON_PRI_BOOT_FAIL: Primary BIOS is
corrupted or un-bootable.

JYy  J\ Q] BIOSCa 4¢ £"lo; »a% 14 ZTO T6.0+a0-

*QEf (Po;eeR¢aé’~ D U* &é].\oaAce' OEUD¢
* &A(P0;:>& & a¢ *'é” CiscoTAC= A5 .daAce' OEUD

\o T6.0+ BIOS_DAEMON-2-BIOS_DAEMON_SUP_ERROR: BIOS Sector ([dec]) is
write protected.

)Yy BIOSC E1 G4y D 4¢ 14 ZTO T6.0+a0-

*QE£1 (Po;eR¢aé”~ MIDb U*,&é].\oaAce' OEUD
* &A(P0;>& & a¢ '@ CiscoTACe A5 .daAce' OEUD .

BIOS DAEMON-SLOT# T6.0+
iTae” BIOS DAEMON-SLOTT6.0+&R¢a'yoOule

BIOS_DAEMON-SLOT#-2

\o T6.0+ BIOS_DAEMON-SLOT#-2-BIOS_DAEMON_LC_ERROR: BIOS Sector ([dec])
is write protected.

'Yy BIOSC E1 G/ D 4¢ 14 ZTO T6.0+a0-

*QEf (Po;eeR¢aé’~ YD U* &é].\oaAce' OEUD¢
* &A(P0;:>& & a¢ *'é” CiscoTAC= A5 .daAce' OEUD

\o T6.0+ BIOS_DAEMON-SLOT#-2-BIOS_DAEMON_LC_PRI_BOOT_FAIL:Primary BIOS
is corrupted or un-bootable.

'y J\ Q] BIOSCA 4¢ \o T6.0+40

*QE£1 (Po;eeRsae™~ /%1D U*,&é].\oeAce OEUD

* &A(P0;>& & a¢ '@ CiscoTAC= A5 .daAce' OEUD .
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BOOTUP_TEST T6.0+
ifaé"aco,;90 BOOTUP _TESBOT6.0+a& B¢ a ' yOuUD-.

BOOTUP_TEST-2

\o T6.0+ BOOTUP_TEST-2-EOBC_FAIL: Module [dec] has failed test [chars]
on EOBC due to error [chars].

Y f\ f;¢é EOBC9,;4 \oC"1¢OuOU-

*QE£1 »£ -Dald-

\o T6.0+ BOOTUP_TEST-2-EOBC_SKIP: Module [dec] has failed test [chars]
on EOBC due to error [chars].

Y f\ f;¢é ManagementPor®,;a \oC"1¢OuOU-

*QE£1 »£ -Dald-

\o T6.0+ BOOTUP_TEST-2-MGMT_PORT_FAIL: Module [dec] has failed test
[chars] on Management Port due to error [chars].

Y f\ f;¢é ManagementPor® ,;4 \oC"1¢OuOU-
*QEf »£ -Dalb-
\o T6.0+ BOOTUP_TEST-2-MGMT_PORT_SKIP: Module [dec] has skipped test
[chars] on Management Port due to error [chars].
Y f\ f;¢é ManagementPor®,;:C, 6JD uOU-

Q£ »£ -Dald-
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BOOTVAR T6.0+
ffaé”to; ™90 BOOTVARIOT6.0+a@ B & ' yOuld-.

BOOTVAR-2

\o T6.0+ BOOTVAR-2-ALLOC_MEMORY: Memory allocation failed.

'y (oF,aTu] °&a lacacu® aoU-
*QE1l * 9SEéTU]C /I~ Q4cac¢c A£AALE 207 TU] /~é<'é, 64
]1.6;000-
\o T6.0+ BOOTVAR-2-AUTOCOPY_FAILED: Autocopy offile [chars] to standby
failed. [chars] (Error-id: [hex]).
'y )DG&Gol(» 6204,2fC & To+ &GoO TacatEud aoU-

*QE£1 \o ID 4 6"04&!+ 2600

\o T6.0+ BOOTVAR-2-AUTOSYNC_FAILED: Image autosync failed Reason:
[chars]([hex]).

Y To+é+%{CAaENO aou.
«Qf7T H\6*X TUJae %&,Mo,C% Ta”A 1*,9SéB L \F
19 éA 4 6"000-

\o T6.0+ BOOTVAR-2-CONFIG_ERROR: Failed to update boot configuration.
LY 10;830H "é 6J:0; @ \oC"¢OuUOU-
*QET H\6*X TUJ]e %& Mo,C% 14 4 6"0” 30D 4¢ To
+, showboot 612044 6"0"@ &a0+élo; 03.30 show loader

internal configuration 620 480»OQuOe«(*é>'HCAIl & write erase s- O” .3
o ;=0"a0ud-

\o T6.0+ BOOTVAR-2-IMAGE_NOT_COMPATIBLE: Warning: image [chars] is hot
compatible with the current platform in SUP [dec].

Yy 1 DU To+,Ca+éJ\6;H 0Sa#E0u0.

*QfT ]10;0 é2"\0¢ To+CO00D a¢ 1a#0.2000-
BOOTVAR-3

\o T6.0+ BOOTVAR-3-AUTOCOPY_FAILED_STANDBY_FULL: Autocopy of file
[chars] to standby failed due to not enough disk space on standby.

Ly, 2fc é: " ,Mo,C/+0é&¢ UU"H ~ &GoAaENOD -«

«Q£1 ,2fC :,"é,Mo, "] Oub-
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|
\o T6.0+ BOOTVAR-3-INIT_FAILED: Initialization failed: Component
[chars].
'Yy (0F,C4?ZaEu0 a0OU-&fPo@f;éE%{ & \oC"1¢OUOU-
*Q£1 show processes6l20Qda«éJ ., éA 4 6"0"+$ D a¢ &f
Po:@f;:&2H4aOub-
\o T6.0+ BOOTVAR-3-LOAD_VERIFY_LIB_FAILED: Fetching library [chars]
failed, reason=[chars].
'y bootvara0ob U .=\ I\]é o<z, EOUOU-
*QEf »£ -Dald-
\o T6.0+ BOOTVAR-3-MODULE_LOCK_FAIL: Unable to get module lock, please
don't reload <error-id:[hex].
'Yy )DG+% @&Y0)C] ' 0<O 14 4[0 Uliee” modlock caEuO -
*QE£1 »£ -Dald-
\o T6.0+ BOOTVAR-3-NEIGHBOR_REJECT_AUTOCOPY: auto-copy failed - not
supported by neighbor supervisor.
Ly, 2fC ,0D0C )CDG&Go (Po;04a¢é&¢cUil” \oed 00
Ue
*QE£1 »£ -Dald-
\o T6.o0+ BOOTVAR-3-VERIFY_FAILED: Image [chars] for bootvar [chars]
verification failed, reason=[chars].
'y 1é bootvaré To+ .6;C .=J.,a \oaed uOU-1 &/ TT6
.0+a0.
+QE£1 I+ 4 6"0O4»£C: yoOuO-
BOOTVAR-5

\o T6.0+ BOOTVAR-5-AUTOCOPY_SUCCEED: auto-copy of file [chars] to
standby supervisor succeed.

'y H "é)DG&GOC\fiae&LO” ,2fC & To+ébKHG#O.zD U

*Q£1 »E DAl

\o T6.0+ BOOTVAR-5-AUTOCOPY_VERIFY_SEND_FAILED: Unable to ask standby
to verify file [chars], error = [hex].

'y ,2fC 6é To+é&Go(” ,2fC ebKH #0.z2PpO UuUéT6.0+
IM>aEu0 aoU-

*Qf1T )DG&Go Hae¥% §A4 faea OQul-
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\o T6.0+ BOOTVAR-5-AUTOSYNC_DONE: Image autosync done.
Ly To+é+%{C\fiaes- D 00U
*QE£l »£ -Dal-
\o T6.0+ BOOTVAR-5-AUTOSYNC_REBOOT: Rebooting standby after successful
autosync.
Ly To+é)DG+%{C\iae&LO"AO; To+ 0<0O Uiliae,2fC
,0DoC ) ].6;04¢00-
*QE£1 ,2fC ,0DoC )C\fie]'0<O 14 4 6"0u0-
\o T6.0+ BOOTVAR-5-AUTOSYNC_START: Starting image autosync. Please wait
until completion.
'y ,2fC ,0DOC )CU+é To+é+%{-DPOUOU-
*QEl »£ -Dalbe
\o T6.0+ BOOTVAR-5-IMAGE_NOTEXISTS: Warning: image [chars] doesn’t
exist on sup[dec].
LY 1 OU To+,800D U,0DoC )ae==000 -
Q£ | OUI To+,C=+0 £aALE #0.z0" H\6*Xe®e@é To+C
=+0 1a#0.z04/& 110;0u0-
\o T6.0+ BOOTVAR-5-NEIGHBOR_UPDATE_AUTOCOPY: auto-copy supported by
neighbor supervisor,starting.
Ly ,2fC CQODG&Go (Po;04¢ 1a ZTO +72°#4a0- IDG&GoC

42704¢ 00

*QEf »£ -Dal-

BOOTVAR-6

\o T6.0+ BOOTVAR-6-ALREADY_IN_SYNC: Image already in sync.

ly o, 2fC ,o0DoC )é To+ 6J:0;0 -Déew 0O -

*QEf »£ -Dalb-

\o T6.0+ BOOTVAR-6-CONFIG_UPDATED: Boot configuration updated.
LY lo; "0330H ~C\fiee 6J:0;D uOU-

*QE£1 »£ -Dald-
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\o T6.0+ BOOTVAR-6-STARTING: Boot configuration initialized.
LY (oF,C\fie4?Zb uOU-

*QE£1 »£ -Dald-

CALLHOME T6.0+
ffae&on N o S9OCALLHOME9O T6.0+& B a'yOUud-.

CALLHOME-2

\o T6.0+ CALLHOME-2-EVENT: [chars]. Callhome event [chars]. occurred.

*Q£1 callhomelb#n 1 Aa)D%é56To" < ,.3004¢ '&” 5
6Toralé calhome Lf;é.f& #0.z04EUD¢ calhomeC @ol"edba
¢&EDPU'&” callhomed4Pljé CLI & Qf< s- Q4 \oa4P O f&+7 1»0

AEUD¢ .
\o T6.0+ CALLHOME-2-PROGRAM_EXIT: callhome process ending: [chars].

Ly callhomed™.,Cllx -+$ 04&LO \o T6.0+a0-

+Q£1 (Po;eR¢aé’~ MID U* &é].\oaAce' OEUD
* &A(P0;:>& & a¢ *'é” CiscoTAC= A5 .daAce' OEUD .

CALLHOME-3

\o T6.0+ CALLHOME-3-CALLHOME_CFS_MERGE_OPERATION_FAILED: [chars].

'y CFSQo+2bPCAE&ZLPU \o T6.0+a0-
*QfT CFS2pbé \oéllx #0.z20"¢56 C\OAEUD

\o T6.0+ CALLHOME-3-CALLHOME_CFS_OPERATION_FAILED: [chars]: [chars].

Sy 48D ag llxéun” Cisco Fabric ServiCFR0O 6120 &o~ NoS2bC
\oxed 0OU-

*QfT CFS2bé \oéllx #0.207¢56 C\QAEUD

\o T6.0+ CALLHOME-3-CALLHOME_MAX_ALERT_MSG: [chars].
fy &0~ NoS \o;C"l¢cOu0OU-
*Q£17T callhomeT6.0+él¢ &+ #0.207"¢56 C\OAEUD
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\o T6.0+ CALLHOME-3-EVENT_PROCESS_ERROR: error in processing callhome
event [chars] reason:[chars].
Ly NoS Lf;é¢£l
*QfT callhome30C\O¢ &£ 4AALE 4 6"O4AEUD SMTP (oC < _,”
5J°H "~é56To" < , 4 86"0" callhomeé @ol” ,902,
4 6"O4EUD:*30-+$ 0O xé show callhome& Qf< 620U«

4+$ D a¢ !'1xélu"&oN

@ \oC"tOuOU-

\o T6.0+

CALLHOME-3-MESSAGE_SIZE_EXCEED: message size for callhome
alert:[chars]exceeds maximum limit for destination profile:[chars].
'y &o”™ NoS \o;éT6.0+

(-C™+$ D 4¢ p5J°H 7~é 4¢
JAA4aA, U0
«Qfi €°0 p5J'H "é""T6.0+ (-4 6"04EUD¢ (»
4&«'@” 56To0"ép5é5°""4¢2x='A Ae""T6.0+ (- Cyouod-
CALLHOME-6
\o T6.0+

CALLHOME-6-NONCRIT_EVENT: [chars].

Y "]9 MABAL&0N NoS Lf:C"¢OudOUs

«Q£1 callhomelb#n | A®)D%é56Ton < , 3004 »'@&”
6Tonralé callhome Lf;éf& #0.zO04EUD¢ «

caEDPU.'E”

5

calhomeC @ol"aeaba
callhome4P1jé CLI & Qf< s- O4 \oa4P O f&+7 1»0
AEUD .

Cisco NX-OS *,98S
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|
CDP T6.0+
ifaé Cisco Discovery Protoc®CDP; *, & “J ;&0 T6.0+txRsa'yOud-.
CDP-2
\o T6.0+ CDP-2-INITFAIL: CDP Daemon Initialization failed: [chars].
JY O 48D ag !lxéeUn” CDP:oUf E%{aEUO a0OU-
*QE£1 »£ -Dald-
CDP-3

\o T6.0+ CDP-3-ALLOCFAIL: Heap Memory allocation failed: [chars].

'y CDP:oUfé3 =R6" TU]C /~04asule \oC"¢OU&TY ,;
C+$D ul-

*QEl »£ -Dald-

\o T6.0+ CDP-3-GENERROR: [chars].

LYy CDP:oUfal)x \oC"1¢OuOUC” %é 9'1é,0 seye°Oud
*\o T6.0+a& \0é]"A 1@¢é&f9 ,;C+$D ul-

*Q£1 »E -Dale

\o T6.0+ CDP-3-MCASTBINDFAIL: Failed to bind for CDP multicast address
on interface [hex]-[chars].

'y CDPQ"4 V,; < _,paéD%$6; ™3saEu0O aoOU- f20H
A T \oél1xC-+$ D ub-

*QE£1 »£ -Dal-

\o T6.0+ CDP-3-MTSERROR: [chars].

'y CDP:oUfa Messaging and Transaction Ser@iddTS90 \oC"1¢ OuO U \o
C"eOoU&f9 ,;C+$ D ul-

*QEl »£ -Dald-

\o T6.0+ CDP-3-PKTRECVFAIL: Failed to receive packet -[chars].
LY 48D a¢ !1xéli’D$6; >aEud aou.

+Q£1 »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ CDP-3-PKTSENDFAIL: Failed to send packet,interface

[hex]-[chars].

'y D$6; IM>aEu0 aOUs f20H ,A 1 \0é''+C+$ D 1

*Q£1 »E DAl

\o T6.0+ CDP-3-PSSERROR: [chars].

+a@ \0é&"IcOU&TI ,;C+$D 0.

*QE£1 »£ -Dald-.

\o T6.0+ CDP-3-SOCKBINDFAIL: Failed to bind to raw socket, interface

[hex]-[chars].

1+C-+$ D 0l

*QE£1 »£ -Dald-

'y CDP raw0$6;2C f<aEUO ao0OU-. f20H

LA T \oé!

'y CDP:oUfa Persistent Storage Sern8PSD0O \oC"l¢OuOU- \o

\o T6.0+ CDP-3-SOCKOPENFAIL: Failed to open socket for receiving raw

802_2 packets - [chars].

Y 48D ag lxéln” raw 8022D$6;6 >2x0$6; 42ETACAEN

6 aou-

*QE£1 »£ -Dald-

CDP-5
\o T6.0+ CDP-5-DISABLED: CDP is disabled.
'y CDPé:C ,a: .ol"@&béacsule
*QE£1 »£ -Dald-
\o T6.0+ CDP-5-ENABLED: CDP is enabled.
'y CDPé:C ,a @ol*eé&basul-
*QFfl »£ -Dal-
CDP-6

\o T6.0+ CDP-6-CDPDUP: CDP Daemon Up.
+a0-

*QEf »£ -Dal-

Cisco NX-OS *,9S

T6.0+

]JH

'y CDP:oUfC\fieeb'D ” 6Jaabas;U04as0u0-1 81b#nT6.0

_f

T6.0
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\o T6.0+ CDP-6-CDPEXIT: CDP Daemon shutting down gracefully.
'y CDP:oUfCli%e&e*V6;3 fD uOU-] é1b#nT6.0+4a0-«

*QE£1 »£ -Dald-

\o T6.0+ CDP-6-NEIGHBOR_ADDED: Device [chars] discovered of type [chars]
with port [chars] on incoming port [chars] with ip addr [chars] and mgmt ip
[chars].

LYy 4bp:C, “OuOU-l é1b#nT6.0+4a0-

*QE£1 »£ -Dald-.
\o T6.0+ CDP-6-NEIGHBOR_REMOVED: CDP Neighbor [chars] on port [chars]
has been removed.

‘Y 4p’:C , 44°0u0OU-1 é1b#nT6.0+a0-

*QE£1 »£ -Dald-

\o T6.0+ CDP-6-PORTDISABLE: CDP disabled on port [chars].

'y 20éPo;a CDPC: .ol”&8 uOU- Po;é f2o0H ID ¥<E
a-+$ D uO-1 é1b#nT6.0+a0

*QE£1 »£ -Dald-

\o T6.0+ CDP-6-PORTDOWN: A CDP enabled port [chars] went down.

'y CDP» Po;C2b (»ae& uOU+Po0; $00 f20H ID é¥<
EC+$D 00~

*QE£1 »£ -Dald-.

\o T6.0+ CDP-6-PORTENABLE: CDP enabled on port[chars].

'y 20éPo;a CDPC @ol*&ad uOU- Po;é f2o0H ID ¥<Ea
-+$ D 001 é1b#nT6.0+40

*QEf »£ -Dal-

\o T6.0+ CDP-6-PORTUP: A CDP enabled port [chars] came up.

'y CDP» Po;C2bp (»&d& uOU+Po0; $00 f20H ID é¥<
EC+$D 1ul-

*QE£1 »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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CMPPROXY T6.0+
ifaé” CMPJ * T6.0+txeRsa'youd-.

CMPPROXY-2
\o T6.0+ CMPPROXY-2-LOG_CMP_IS_NOT_UP: Connectivity Management
processor(on module [dec])did not come up.
.y Connectivity Management Proce8MPIOC"Té U+ X 0" aBo;Fo; 1IM>0
a¢eu0 o
Q£ »£ -Dald-
\o T6.0+ CMPPROXY-2-LOG_CMP_WENT_DOWN: Connectivity Management
processor(on module [dec])went DOWN.
'y CMPC3 fO4¢ £ "0UG43@4FBo;Fo0; IM>04,00 -
*QE£1 »£ -Dald-.
CMPPROXY-5
\o T6.o0+ CMPPROXY-5-LOG_CMP_AAA_FAILURE: AAA failed for a login from
CMP(on module [dec]).
LYy z=e' O4&DbPUEA” CMPé& # fé "., 80uUOU-
*QEf »£ -Dald-
\o T6.0+ CMPPROXY-5-LOG_CMP_UP: Connectivity Management processor(on
module [dec])is now UP.
Ly CMP C/aGO”ié SUP, 6; é CP&Bo;Fo;édp-bacud
*QE£1 »£ -Dald-
\o T6.0+ CMPPROXY-5-MALLOC_FAILURE: Memory allocation failure.
Ly malloc/calloc mi 04U ”TU]é °4CAEU0O adU.
*QE£1 »E -Dale
CMPPROXY-6

\o T6.0+ CMPPROXY-6-LOG_CMP_AAA_SUCCESS: AAA succeeded for alogin from
CMP(on module [dec]).

'y AAA C' OUéa” CMPé& # f ", 5 000U

*QE£1 »£ -Dald-.

CiscoNX-OS *,9S T6.0+ ]JH _f,
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COPP T6.0+
ifaé” COPPT6.0+&Rca'yOud-.

COPP-2

\o T6.0+ COPP-2-COPP_INIT_FAIL: CoPP Initialization failed: [chars].

'y CoPP Ev{AaE&ZPU \o T6.0+a0-

*QE£1 »£ -Dald-

\o T6.0+ COPP-2-COPP_MTS_FAIL: Failed to do MTS operation: [chars].

LY MTS 2P s- aE&AZAPUTAC \oéllxade

*QE£1 »£ -Dald-

COPP-3

\o T6.0+ COPP-3-COPP_ALLOC_FAIL: Failed to alloc required memory:
[chars].

'y -DATU]é °aCaE&&pUTEC \oéllzade

*QE£1 »E -Dale

\o T6.0+ COPP-3-COPP_PPF_FAIL: Failed to do PPF operation: [chars].

'y PPF2b s-aE&&£pPUTAC \oé!l!+a0-

*QE£1 »£ -Dald-

\o T6.o0+ COPP-3-COPP_PSS_FAIL: Failed to do PSS operation: [chars].

'y PSS2b s- aEAAPUTEC \oél1xa0e

*QEf »£ -Dalde

COPP-5

\o T6.0+ COPP-5-COPP_DISABLED: COPP Disabled.

'y COPP(oF,C: .0l12a0-

*QEf »£ -Dald-

\o T6.0+ COPP-5-COPP_ENABLED: COPP Enabled.

'y COPP(oF,C @ol~a0-

*QE£1 »£ -Dald-

M CiscoNX-OS *,9S T6.0+ JH _f,
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\o T6.0+ COPP-5-COPP_INIT: COPP initialized.
'y COPP(oF,CE¥%{P uOU-

*QE£1 »£ -Dald-
COPP-6

\o T6.0+ COPP-6-COPP_POLICY_ATTACHED: CoPP policy has been attached to
control plane interface.

'y CoPPP]*oC&f; 0" J _of f20H ,zliPPb uOU-

Q£ »£ -Dald-
\o T6.o0+ COPP-6-COPP_POLICY_DETACHED: CoPP policy has been detached from
control plane interface.

fy o &f; oA J_of f20H A CoPPP]*0é1i2C.4°D uOU-

*QE£1 »£ -Dald-

CORE-DMON T6.0+
11aée”& 3fJ :0Uf90 CORE-DMONOT6.0+@R¢A'yOuO-.

CORE-DMON-2

\o T6.0+ CORE-DMON-2-MODULE_COREDUMP_DONE: kernel coredump completed on
module:[dec].

fYy U+Xo™ é o@” coredumpC& LOUO U

*QE£1 »£ -Dald-
\o T6.0+ CORE-DMON-2-MODULE_COREDUMP_STARTED: kernel coredump started
on module:[dec].

LY U+Xo™ é 0@ coredumpC4?Z0u0O U

*QE£1 »E -Dale

CiscoNX-OS *,9S T6.0+ ]JH _f,
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CTST6.0+
ifae” CTST6.0+aeBsa ' yOuUOb-

CTS-2

\o T6.0+ CTS-2-DBG_INIT_FAILED: Debug Infrastructure Initialization
failed ([chars]).

fy o Ce#  fH\,;\"4V Ew{aE&Z£DbU \o T6.0+a0-
*QE£1 »£ -Dald-

\o T6.0+ CTS-2-FSMU_INIT_FAILED: State Machine Infrastructure
Initialization failed ( [chars] ).

a»
O
[ ]

Sy ,90;  fH\,;\"4V Ew{aE&&EPUELA \o T6.0+

*QE£1 »£ -Dald-

\o T6.0+ CTS-2-IPC_INIT_FAILED: IPC (Inter Process
Communication)Initialization failed ([chars]).

fYy CTSQ@o+VCIPC fH\,;\"4V Ewu{aEu0d aoU-

*QEf »£ -Dal-

\o T6.0+ CTS-2-LICENSE_UNAVAILABLE: License:[chars] unavailable,
service exiting.

Sy O\ L f, 8RAEU0O <(oF,é1 a&3LOub-
Q£ Téi(» &&iOas6raE A"\ .f, H ~ f,;0r04&EU
D¢

\o T6.0+ CTS-2-MEM_FAILED: Memory operations failed File: [chars] Line
[dec] for size [hex] bytes.

'y TU]é2PCAEAAPU&¢A \0T6.0+40-

*QE£1 »£ -Dald-.

\o T6.0+ CTS-2-POST_INIT_FAILED: Post-Initialization failed( [chars]).
'y Ew{Bé \o ,902, ZTO T6.0+4a0-
*QE£1 »£ -Dal-
\o T6.0+ CTS-2-PSS_INIT_FAILED: PSS Infrastructure Initialization
failed ([chars]).
fy PSS fH\,;\"4V EW%{AaE&AEPU&E;A \o T6.0+a0-

Q£ »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ CTS-2-RBACL_UNABLE_PARSE_ACE: Unable to parse RBACL ACE
substring: [chars].

Y  RBACLACE (I,;]f#. AE&¢8¢A \o T6.0+a0-

Q£ »£ -Dald-

CTS-3

\o T6.0+ CTS-3-DOT1X_AUTHC_FAILED: DOT1X authentication failed on port:
[chars].

'y Po0;é DOTIX.z=a \oG"1¢OuOU-

*QE£1 »£ -Dald-.

DEV LOG T6.0+
i1aé” DEV LOGT6.0+&B¢a yOUuO.

DEV_LOG-3

\o T6.0+ DEV_LOG-3-ERROR: [chars].
'y Dev_log lca \oC"1¢OuOU-

*QE£1 »£ -Dald-

DEVICE TEST T6.0+
faé”:c , 9,:90 DEVICE_TES®OT6.0+3Rsa'yOud-

—)

DEVICE_TEST-2

\o T6.0+ DEVICE_TEST-2-ASIC_REG_CHECK_FAIL: Module [dec] has failed
test [chars] [dec]times on device [chars]instance [dec] frontpanel ports
affected [chars] due to error [chars].

Y f\ f;¢é ASICRegisterCheclo, ;4 \oC"1¢ OuOU-
Q£ »£ -Dald-
\o T6.0+ DEVICE_TEST-2-COMPACT_FLASH_FAIL: Module [dec] hasfailed test
[chars] [dec] times on device Compact Flash due to error [chars].
Y f\ f;¢é CompactFlast9,;a \oC"1¢OuOU-

*QE£1 »£ -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,

[ oL-15994-01-J

g o |



%Y2%( Cisco NX-OS é*,9S T6.0+A TA6»5A |

\o T6.0+ DEVICE_TEST-2-CRYPTO_DEVICE_FAIL: Module [dec] has failed test
[chars] [dec] times on Crypto device due to error [chars].

Y f\ f;¢é CryptoDevice9,;a \oC"l¢OuOU-

Q£ »£ -Dald-

\o T6.0+ DEVICE_TEST-2-MALLOC_FAILURE: Memory allocation failed.
Ly :C 9,; J .,C"TU] °4 1acaEud aoU-

*QE£1 »£ -Dald-.

\o T6.0+ DEVICE_TEST-2-NVRAM_FAIL: Module [dec] has failed test
[chars][dec]times on device NVRAM due to error [chars].

Y f\ f;¢é NVRAM 9,;4 \oC"l¢OuOU-

*QEf »£ -Dale

\o T6.0+ DEVICE_TEST-2-PRIMARY_BOOTROM_FAIL: Module [dec] has failed
test [chars] [dec] times on device Primary BootROM due to error [chars].

Y f\ f;¢é PrimaryBootROM9,;a \oC"1¢OuOU-.

*QE£1 »£ -Dald-

\o T6.0+ DEVICE_TEST-2-PWR_MGMT_BUS_FAIL: Module [dec] has failed test
[chars] [dec] times on device Power Mgmt Bus on slot [dec] due to error
[chars]error number[hex].

Y f\ f:¢é PwrMgmtBus9,;a \oC"1¢OuO U

*QEf »£ -Dald-

\o T6.0+ DEVICE_TEST-2-RTC_FAIL: Module [dec] has failed test [chars]
[dec] times on device RealTimeClock due to error [chars].

Y f\ f;¢é RealTimeClock9,;a \oC"1¢OuOU-

*QE£1 »£ -Dald-

\o T6.0+ DEVICE_TEST-2-SECONDARY_BOOTROM_FAIL: Module [dec] has failed
test [chars] [dec] times on device Secondary BootROM due to error [chars].

Y f\ f;¢é SecondaryBootROMD , ;4 \oC"1¢ OuOU-

*Q£1 »E -Dale

\o T6.0+ DEVICE_TEST-2-SPINE_CONTROL_BUS_FAIL: Module [dec] has failed
test [chars] [dec] times on device Spine Control Bus on slot [dec] due to error
[chars] error number [heX].

Y f\ f;¢é SpineControlBus9, ;a4 \oC"1¢OuOU-

*QE£1 »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ DEVICE_TEST-2-SYSTEM_MGMT_BUS_FAIL: Module [dec] has failed
test [chars] [dec] times on System Mgmt Bus for chassis [chars] instance [dec]
due to error [chars] error number [hex].
Y f\ f;¢é SystemMgmtBus9,;a \oC"1¢OuOU-
*Q£1 »E -Dale
\o T6.0+ DEVICE_TEST-2-USB_FAIL: Module [dec] has failed test [chars]
[dec] times on device USB due to error [chars].
Y f\ f;¢é USB9,;a \oC"l¢OuOU-

*QEf »£ -Dal-

DEVICE_TEST-4

\o T6.0+ DEVICE_TEST-4-THREAD_CREATE_FAIL: Thread creation failed.

fy o oC, 9,; J .,C, 6< P*aE0NO® ao0U.

*QEf »£ -Dale

\o T6.0+ DEVICE_TEST-4-TIMER_CREATE_FAIL: Timer creation failed .

fy o oC, 9,; J.,C2 Qo p‘aEud aouU-.

*QE£1 »£ -Dald-

\o T6.0+ DEVICE TEST-4-TIMER_START FAIL: Timer start failed .
Sy :C, 9,; J.,C2 Qo4?ZaEud aouU-.

Q£ »£ -Dald-
DEVICE_TEST-5
\o T6.0+ DEVICE_TEST-5-NOTICE_TEST: Memory allocation failed notice.
Yy :C, 9,; J.,C"TU] °4&lacaEu0 aoOU-
Q£ »£ -Dald-

DEVICE_TEST-6

\o T6.0+ DEVICE_TEST-6-INFO_TEST: Memory allocation failed info.

Yy :C, 9,; J.,C"TU] °4alacaEu0 aoOU-

CiscoNX-OS *,9S T6.0+ ]JH _f,
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DHCP_SNOOP T6.0+
faé” DHCP_SNOOPT6.0+&Rca'yOud-.

—)

DHCP_SNOOP-2

\o T6.0+ DHCP_SNOOP-2-INITFAIL: DHCP Daemon Initialization failed:
[chars].

'y DHCP:oUf E%{AaE&AZADPUTAC \oé!'xa0-

*QE£1 »£ -Dald-

\o T6.0+ DHCP_SNOOP-2-REGPARTREE: Unable to register par tree: [chars].
Ly Do 7]o ™3saEa&PUTAC \0é!1xal-

*Q£1 »E DAl

DHCP_SNOOP-3

\o T6.0+ DHCP_SNOOP-3-ALLOCFAIL: Heap Memory allocation failed:

[chars].
Ly DHCP :o0Ufé3 =R6" TUJC /+04&as,u0e \0é"¢OU&TI
;C+$ D ul-

*QE£1 »£ -Dald-.

\o T6.0+ DHCP_SNOOP-3-DHCPDENIEDARP: ARP frame denied due to DHCP
snooping binding on interface [chars] VLAN [dec] sender mac [chars] sender ip
[chars] target mac [chars] target ip [chars].

Jy 1éT6.0+xé” ARPD$6;C 8D U f2o0H A1 VLAN C-+$
D ud«IM>0 mac’IM>0 ip"20%6; macA 120%6; ipy+$H 10

Q£ »£ -Dald-

\o T6.0+ DHCP_SNOOP-3-DHCPRATELIMIT: Interface [chars] has been error
disabled due to excessive ingress rate [dec] of DHCP packets.

'y 1éT6.0+axé"1Spal _o;CUAA errdisableee® U f20H ,C
+$ D ul-

*QE£1 »£ -Dald-
\o T6.0+ DHCP_SNOOP-3-INVDHCPPKTS: [dec] invalid DHCP packets received
on interface [chars] VLAN [dec].
Ly TéT6.0+eeé” u2D$6; ™" f20H ,” A1 VLAN C+$ D uO-

*QE£1 »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ DHCP_SNOOP-3-MTSERROR: [chars].

'y CDP:oUfa MTS \oC"eOuOU«\0é"1¢OU&F9 ,;C-+$ P

Q£ »£ -Dald-

\o T6.0+ DHCP_SNOOP-3-PKTRECVFAIL: Failed to receive packet - [chars].
Ly D$6; >aAaE&EPUTAC \oél!+a0-
*QE£1 »E -Dale

\o T6.0+ DHCP_SNOOP-3-PKTSENDFAIL: Failed to send packet, [chars].

'y D$6; IM>AaE&&EDPUTAC \oé!l!1+a0-

*QE£1 »£ -Dald-

\o T6.0+ DHCP_SNOOP-3-PSSERROR: [chars].

'y DHCP:oUfa PSS \oG"¢OUOU- \0é"¢OU&F9 ,;C+$ D

*QEf »E£ -Dal-

\o T6.0+ DHCP_SNOOP-3-SOCKBINDFAIL: Failed to bind to raw
socket-[chars].

'Yy 0%$6;@C f<aE&AZ£PUTEAC \oéllxal-

Q£ »£ -Dald-

\o T6.0+ DHCP_SNOOP-3-SOCKOPENFAIL: Failed to open socket for receiving
DHCP packets -[chars].

Sy DHCPD$6; >0 Uua0$6; 0JfO AadOa,EOUITAC
\oéllxald-

*QEf »£ -Dald-

DHCP_SNOOP-4

\o T6.0+ DHCP_SNOOP-4-ACL_DENY: [dec] Invalid ARP messages ([chars])on
[chars],VLAN [dec]. ([[chars])/[chars]/[chars]/[chars]/[chars]]).

Ly \o T6.0+xé"D$6; f;” f20H , éu?2 ARP9CGarp 2
J9O VLAN "IM >0 mac/IM>0ip/ 20%6;: mac/20%6; ip/ToD C-+$ D uO-

*QE£1 »£ -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ DHCP_SNOOP-4-ACL_PERMIT: [dec] ARP messages ([chars])on
[chars],VLAN [dec]. ([[chars]/[chars]/[chars]/[chars]/[chars]]).

Y \o T6.0+xé"D$6; f;” f20H , é ARP9Garp 2 J90
VLAN "IM >0 mac/IM>0ip/ 20%6; mac/20%6; ip/ToD C-+$ D 1.

Q£ »E -Dale

\o T6.0+ DHCP_SNOOP-4-DHCP_SNOOPING_DENY: [dec] Invalid ARP messages
([chars])on [chars], VLAN [dec].
([[chars]/[chars]/[chars]/[chars]/[chars]]).

Y \o T6.0+xé&"D$6; f; [dec]” f20H , éu2 ARP9Carp
2 J9O " VLAN "IM >0 mac/IM>0ip/ 20%6; mac/20%6; ip/ToD C-+$ D 1ul-

*QE£1 »£ -Dald-

\o T6.0+ DHCP_SNOOP-4-DHCP_SNOOPING_PERMIT: [dec] ARP messages([chars])
on [chars],VLAN [dec]. ([[chars]/[chars]/[chars]/[chars]/[chars]]).

Ly \o T6.0+xé’D$6,; f;” f2o0H , é ARP9CGarp 2 J90
VLAN "IM >0 mac/IM>0ip/ 20%6; mac/20%6; ip/ToD C-+$ D 1u0-

*QE£1 »£ -Dald-

\o T6.0+ DHCP_SNOOP-4-ERROR_DISABLED: Interface [chars] has moved to
error disabled state due to excessive rate [dec] of ingress ARP packets.

'y 1S2é1 ARPDS$6; _0o;CUAA&” f20H , [chars] & errdisable, 9 0
c@$— b uoOU.

*QE£1 »£ -Dalde
\o T6.0+ DHCP_SNOOP-4-INVALID_ARP:[dec] Invalid ARP messages ([chars])
on [chars],VLAN [dec].

([[chars]/[chars]/[chars]/[chars]/[chars]]).

Ly D$6; f;” f2o0H , éu2 ARP9Garp 2 J90 ” VLAN "1IM >0 mac/
IM>0ip/ 20%6; mac/20%6; ip/ToD

*QE£1 »£ -Dald-

DHCP_SNOOP-6

\o T6.0+ DHCP_SNOOP-6-DHCPEXIT: DHCP Daemon shutting down gracefully.
'Yy DHCP:oUfCli%a*V6;3 fBD uOU«T élb#nT6.0+4a0

*QE£1 »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
0L-15994-01-J |



| %2 %( CiscoNX-OS é*,9S T6.0+A TA6»5A

||
\o T6.0+ DHCP_SNOOP-6-DHCPHOSTADD: A new Host is [chars] connected to
interface [chars] in VLAN [dec] and is allocated IP address [chars] for [dec]
secs.
Ly N,;¢ VLAN"IP <_,"]o,(4F903$}90C-+$ D uO-1 é1b#nT6.0
+a0-
*QE£1 »£ -Dald-
\o T6.0+ DHCP_SNOOP-6-DHCPLEASEEXPIRE: Lease expired for host [chars]
having IP address [chars] connected tointerface [chars]in VLAN [dec]for lease
[dec] secs.
SY  VLAN é f2o0H ,&'&b U”]o,é P < _, ,BN,;&»0
]o,C%4t¥% sed uOU-
*QE£1 »£ -Dald-
\o T6.0+ DHCP_SNOOP-6-DHCPPERMITTEDARP: ARP frame permitted due to DHCP
snooping binding on interface [chars] VLAN [dec] sender mac [chars] sender ip
[chars] target mac [chars] target ip [chars].
'y 1éT6.0+a&é” f20H 7 ARPD$6;C5 B U VLAN C-+$ B

U0«IM>0 mac’IM>0 ip”"20%6; macA T20%6; ipy+$D 0O

*QEf »£ -Dale

\o T6.0+ DHCP_SNOOP-6-DHCPUP: DHCP Daemon Up.

'Yy DHCP:oUfC\fieebP'D " 6Jaeabas;,U0as,u0-l é1b#nT6.0
+30.

»

*QE£1 »£ -Dald-

\o T6.0+ DHCP_SNOOP-6-INFO: [chars].
'Yy , 64 0Co(é Lf;a0+ \oél!lxC'yD 10
+Q£1 »£ -Dald-

\o T6.0+ DHCP_SNOOP-6-INTFDISABLE: IP Src Guard disabled on intf
[chars].

'y IP0o, o0<C20é intfa: .ol"ed uOU- T élb#nT6.0+80-

*QE£1 »£ -Dald-

\o T6.0+ DHCP_SNOOP-6-INTFENABLE: IP Src Guard enabled on intf [chars].
'y IP0o, o0<C20é intf & @ol”"aed UOU«T é1b#inT6.0+40

*QEf »£ -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,
| oL-15994-01-J
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\o T6.0+ DHCP_SNOOP-6-VLANDISABLE: DHCP Snoopingdisabled on VLAN [dec].

'y DHCP,?0Gf#C206é VLAN a:

.0l"ed UOU-T é1b#nT6.0
+30.

»

Q£ »£ -Dald-

\o T6.0+ DHCP_SNOOP-6-VLANENABLE: DHCP Snooping enabled on VLAN [dec].
'y DHCP,?0Gf#Cz20¢é VLAN & @ol”aed uOU-l é1b#nT6.0+
O
£1

a»

»£ Dalde

DIAG_PORT LB T6.0+

1Taé” DIAG PORT IBT6.0+&RB¢sa ' yOuUle.

DIAG_PORT_LB-3

\o T6.0+

DIAG_PORT_LB-3-DIAG_PKT_SEND_FAILURE: [chars]([dec]) [chars].
Error:[chars].

2y Po; ~0JC6" J.,C""0JC6" D$6; IM>aE0U0 aoU-
*QEl »E£ -Dal-

\o T6.0+

DIAG_PORT_LB-3-FSM_LIB_ERROR: [chars]([dec])[chars].
Error:[chars].

'y Po; 7f0JC6" 9,; J.,¢” MTSAPla \oxd uOU-.

Q£ »£ -Dald-

\o T6.0+ DIAG_PORT_LB-3-GET_DIAG_BD_FAIL: [chars]([dec]) Failed to get
the BD for Diag VLAN:[dec]. Error:[chars].

'y DiagVLAN &®» O BD ¢atEud aou.

*QE£1 »£ -Dald-.

\o T6.0+ DIAG_PORT_LB-3-IFINDEX_LIB_FAILURE: [chars]([dec]) [chars]
[chars]:[hex] [chars] [chars].

Ly Po; "0JC6"  9,; J.,C” ifindex\ I\] APl 4 \oaed UOU-
*QE£1 »£ -Dald-

\o T6.0+

DIAG_PORT_LB-3-INVALID_TEST_REQUEST: [chars]([dec])
[chars]:[dec].

'y Po; "0JCE" 9,; J°.,G"9,-Bp:Z caEud aoU:

Q£ »£ -Dald-

M CiscoNX-OS *,9S T6.0+ JH _f,

OL-15994-01-3 |



| %2 %( CiscoNX-OS é*,9S T6.0+A TA6»5A

||
\o T6.0+ DIAG_PORT_LB-3-INVALID_TEST_RUN: [chars]([dec]) [chars]:[dec].
'y Po; 7~0JC6" 9,; J.,C” (0+é9,;s-+7Z catEud aouU-.
*QE£1 »£ -Dald-
\o T6.0+ DIAG_PORT_LB-3-LIF_GET_ERROR: [chars]([dec]) [chars]
Error:[chars].
Ly Po;, 7~0JC6" 9,; J .,C";¢ LIFID c¢aEud aouU.
*QE£1 »£ -Dald-
\o T6.0+ DIAG_PORT_LB-3-MALLOC_FAILURE: [chars]([dec]) Memory
allocation failed.
'y Po; ~o0JC6" 9,; J .,C"TU] ~°aiacateu0 aoOuU-
*QEf »£ -Dalb-
\o T6.0+ DIAG_PORT_LB-3-MTS_LIB_ERROR: [chars]([dec]) [chars].
Error:[chars].
'y Po; "o0JC6" 9,; J.,C" MTSAPla \ox& uOU.
*QE£1 »£ -Dald-
\o T6.0+ DIAG_PORT_LB-3-PIXM_LIB_ERROR: [chars]([dec]) Failed to
convert [chars]:[hex]to [chars]. Error:[chars].
Ly Po;, 7~0JC6" J'.,C"Po; f:6", HAEUWO aou.
*QE£1 »£ -Dald-
\o T6.0+ DIAG_PORT_LB-3-PORT_CFG_REQ_SEND: [chars]([dec]) Failed to
send request to configure port ifindex:[dec]for port loopback test.
Y Po; ~0JC6" 9,: s- /"]of 6JO Uié”Po:é30 /1 60C

aE0O aou-.

+QE£1 »£ -Dald-

\o T6.0+ DIAG_PORT_LB-3-PORT_CLIENT_LIB_ERROR: [chars]([dec]) [chars].
Error:[chars].

Yy  Po; f0JC6" 9,; J.,G"Po; BN APl & \ozd u0
Je

*QE£1 »£ -Dald-

[ oL-15994-01-J

CiscoNX-OS *,9S T6.0+ ]H _f, .m
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\o T6.0+ DIAG_PORT_LB-3-PORTLOOPBACK_TEST_FAIL: Module:[dec]
Test:PortLoopback failed [dec] consecutive times. Faulty module:[dec] affected
ports:[chars] Error:[chars].

Yy Po; "0JC6" 9,;C"U+Xo0” alj&i04 \oed uOU.

*QE£1 »E -Dale

\o T6.0+ DIAG_PORT_LB-3-PROC_INIT_FAILURE: [chars]([dec]) [chars]
Error:[chars].

Sy Po; "0JC6" 9,; J.,C") ., éE%{éd4Uax \oxd uOU-
*QEf »£ -Dalde

\o T6.0+ DIAG_PORT_LB-3-RESULT_ADD_FAILURE: [chars]([dec])
[chars]:[dec].

Yy Po:; 70JC6" J .,C"P0;é9,:& 1J AEUO a0OU-

*QE£1 »£ -Dald-

\o T6.0+ DIAG_PORT_LB-3-RESULT_SEND_FAILURE: [chars]([dec]) [chars].
Ly Po; 7~oJC6" 9,; J.,C"9,:& 1M>aE0N0O aou.

*QE£1 »E -Dale

\o T6.0+ DIAG_PORT_LB-3-REWRITE_ENGINE_LOOPBACK_TEST_FAIL:
Module:[dec] Test:RewriteEngine Loopback failed [dec] consecutive times. Faulty
module:[dec] affected ports:[chars] Error:[chars].

Ly 1V f+f ApJCB6" 9,;C” U+Xo~ a1j&i04& \oaed 0OU-.

\o T6.0+ DIAG_PORT_LB-3-RW_ENGINE_LOOPBACK_TEST_SPINE_PATH_FAIL:
Module:[dec] Test:RewriteEngine Loopback Spine path:[dec] failed [dec]
consecutive times. Error:[chars].

2 A f+f 7r0JC6" 9,;C” ,Df D, alj&iOa \oxed a0
Je

*QE£1 »£ -Dald-.
\o T6.0+ DIAG_PORT _LB-3-SOCKET _ERROR: [chars]([dec])[chars]
Error:[chars].

fy  Po; "0JC6" 9,; J.,C"0%$6;2bé4U=x \oxed 0OU-

*QEf »£ -Dal-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ DIAG_PORT_LB-3-STATS_LIB_ERROR: [chars]([dec]) [chars]:[dec].
Ly Po; "0JC6" 9,; J.,C" statsinfra\ I1\] APl a4 \oazd udOU-.

*QE£1 »£ -Dald-

\o T6.0+ DIAG_PORT_LB-3-TEST_RES_SEND_FAIL: Failedtosend [chars]test
results back to DiagnosticsiInfrastucture.Error:[chars].

Ly Po; ”~o0JCe6" 9,:C"9,:&, 1M>aE00O aou.
oQE'T »E£ Dalde

\o T6.0+ DIAG_PORT_LB-3-TIMER_LIB_ERROR: [chars]([dec]) [chars].
[y Po; ”~o0JC6" 9, J .,62 Qof!lé \0al-
*QE£1 »£ -Dald-.

\o T6.0+ DIAG_PORT_LB-3-VLAN_ERROR: [chars]([dec]) [chars]
Error:[chars].

'y Po; ~0JC6" 9,; J.,C"¢ VLAN 7 catEu® aouU-.
*QE£1 »£ -Dald-

\o T6.0+ DIAG_PORT_LB-3-VQI_GET_FAIL: Failed to get the Diag VQi from
XBM. Error:[chars].

R A f+f "0oJC6" 9,;C” XBARMgr £ DiagVQi c¢atEud
aoue.

*QE£1 »£ -Dald-

\o T6.0+ DIAG_PORT_LB-3-XBM_CFG_REQ_FAIL: Failed to conigure the XBAR
mask while running the RewriteEngineLoopback test. Error:[chars]. Module:[dec]
could have gone offline.

A A f+f r"0JC6" 9,;C"9,;és- & XBAR Q," .304E
00 a0U«20%6; U+X0o~"C H\ feedPa¢ (»HC% Ul

*QE£1 »£ -Dald-

DIAG_PORT_LB-5

\o T6.0+ DIAG_PORT_LB-5-DIAG_PORT LB DISABLED: DIAG PORT LB
Disabled.

Yy DIAG_PORT LB(0F,C: .01"a0-

Q£ »£ -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ DIAG_PORT_LB-5-DIAG_PORT_LB_ENABLED: DIAG_PORT_LB Enabled.

'y DIAG_PORT LB(oF,C @ol”ra0-

*QE£1 »£ -Dald-

DIAGCLIENT T6.0+
fTaé” DIAGCLIENT T6.0+&Rsa'yOud-.

DIAGCLIENT-2

\o T6.0+ DIAGCLIENT-2-DIAG_BOOTUP_COMPLETE: Module <[dec].

‘Y /aG9,;CbLOUOU.

*QE£1 9,4 SUCCESSCZTD U«'é»£é -Dé% 00 «@ « éo'”

&f0ora&” P U \o T6.0+ GéU0&G0O" show tech-support

40"*,&€E9"> 7 (Po; °(*®1j&E0 & u4gOU+Z -$ OAEUD »

\o T6.0+ DIAGCLIENT-2-EEM_ACTION_HM_SHUTDOWN: Test <[chars]

.y Syslogélb#na O

*QEf »£ -Dald-

\o T6.0+ DIAGCLIENT-2-MTS_SEND_FAILURE: MTS send failed, mts_opc:
[chars],dest slot: [dec],dest SAP: [dec],error-id: [hex].

LY MTSIM>a \oCZTH ulOU-

*QE£1 »£ -Dald-

\o T6.0+ DIAGCLIENT-2-PSS_READ_FAILURE: Read from PSS failed on Module
<[dec]

'y PSS,; £ é’G 2pCaEuU0d aou.

*QE£1 »£ -Dald-.

\o T6.0+ DIAGCLIENT-2-PSS_WRITE_FAILURE: Write to PSS failed on Module
<[dec].

'y PSS,; 6é6 E1La2bpCaEud aou.

*QEf »£ -Dal-

Cisco NX-OS *,9S T6.0+ JH _f,
OL-15994-01-J
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DIAGCLIENT-3

\o T6.0+ DIAGCLIENT-3-DIAG_HM_FAIL: Module <[dec].

Jy KA, U>21f# 9,;8\0CZTD 0uOU-

*QfT \f 0<C, 6;20pP/E Iba¢ 1a#0.2z0" -ba -J# 0O&4A0
0O\ f 0<C, 6;elj%ea# D a4c8¢'€79,; c2s- O4nu

O\ f 0<Cli%e, 6;eJ#D a¢U-'6"&f00"&" B U \o

T6.0+ BEU0&G0O” show tech-supporté~ 146 O"*,&€é9"> ~ (
Po; °(*®lj&E0 4" 4 OU+Z -$ OAEUD,

\o T6.0+ DIAGCLIENT-3-ONDEMAND_FAIL_EXCESS: Module <[dec].
Yy f:Qf<  9,:C"30A™ /aA4 \ozad 0OU-.
+QET &f0or=” P U \o T6.0+ PENU&GOO” show tech-support

¢ U4g0"*, &é9"> A (Po; °(*®1j&E0 4”4 OU+Z -$ OA4E
Ubg -

\o T6.0+ DIAGCLIENT-3-PER_PORT_TEST_FAIL: Module <[dec]

LYy Po0;x1€9,;C %é0064éPo0;a \oxed UOU-

*QEf »£ -Dalde

DIAGCLIENT-4

\o T6.0+ DIAGCLIENT-4-LC_OFFLINE_FOR_CURR_SLOT: Received LC offline
event for the current slot:[dec]. Ignoring it.

'y Syslogélb#na O«

*QE£1 »£ -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,
| oL-15994-01-J
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DIAGCLIENT-5

\o T6.0+ DIAGCLIENT-5-CALLOC_FAILURE: Memory allocation failed.
'y DiagClientJ ., C"TU] °4 1acacEud aoU-

*QE£1 »E -Dale

\o T6.0+ DIAGCLIENT-5-DIAG_SCHED_COMPLETE: Module <[dec].

Yy ,$+X0”D U9,;CbLOUOU.

*QE£1 »£ -Dald-.

\o T6.0+ DIAGCLIENT-5-ONDEMAND_FAIL: Module <[dec].

'y 00D U9,;C"1éAés a FAILURE ZTOuOU-

*QEf »£ -Dal-

\o T6.0+ DIAGCLIENT-5-ONDEMAND_SUCCESS: Module <[dec].

'y 00D U9,;C"1éAés a SUCCESS ZTOuOU-

*QE£1 »£ -Dald-

DIAGMGR T6.0+
ffaé” DIAGMGR T6.0+&RBsa'yOud-.

DIAGMGR-2

\o T6.0+ DIAGMGR-2-MTS_SEND_FAILURE: MTS sendfailed, mts_opc: [chars],
dest slot: [dec], dest SAP: [dec], error-id: [hex].

'Yy MTSIM>a \oGCZTH uOU-
*QE£1 »E -Dale

\o T6.0+ DIAGMGR-2-PSS_DELETE_FAILURE: Read from PSS failed on Module
<[dec].

'y PSS,; £ é’4 2bCAaEu®d adU-

*QEf »£ -Dald-

\o T6.0+ DIAGMGR-2-PSS_WRITE_FAILURE: Write to PSS failed on Module
<[dec].

'y PSS,; 6é6 ElLa2pCcacEud aou.

*QE£1 »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
0L-15994-01-J |
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DIAGMGR-3
\o T6.0+ DIAGMGR-3-DIAG_MAJOR_DEFECT: Module <[dec].
SV 589, e’T+Vo \oC "B uOU-
*QEl o< -J# 0"4a0"9,; c2s-0ub+o0< -J# 0'4049,; c2
s- Q4y+0 \oaxed '@ 5Ye” B U \o T6.0+ BEUU&G0O"
show tech-supporté” A 1¢é4P1j+7 4gOuD+*,&E9"> ~ (Po; °
(*®lj&EO &4 OU+Z -$ OAEUD
\o T6.0+ DIAGMGR-3-DIAG_MINOR_DEFECT: Module <[dec].
fY O 5ée9,; ®°Q =o \oC "B uOU-
*QE£1 o< -J# 0'40"9,; c2s- Oube«o< -J# 0'8a049,; c2
s- 04y+0 \oexed «'é” 5Ya” b U \o T6.0+ BéUU&GO0O”
show tech-supporté” A 71«¢4P1j+x7Z 04gOuO+*,&€9"> A (Po; °
(*eelji&EO&"4gOU+7Z -$ OAEUD »
\o T6.0+ DIAGMGR-3-GET_CURR_SLOT_FAIL: Failed to get the current slot
for the process. Error:[chars].
Y 3. 6EvA{(2"0+6,6; caEUO aoU-.
*QfT J ., éEY%{\0$0+72T6.0+a0-
DIAGMGR-4

\o T6.0+ DIAGMGR-4-CURR_SLOT_OFFLINE: Recevied an LC offline event for
the current slot:[dec]. Ignoring it.

Y3 .,C"s- 6,°6;6 H\ f Lf; >0"@ ubOuOU-.

*Qf£T Do é Lf;C"tOUTa3$0+72T6.0+40-

\o T6.0+ DIAGMGR-4-DISRPT_TST_START: Starting Test <[chars]
Ly ¢ »A9,; 4270 a"*,9Sé\f&dGb yi »>HC% 00
Q£ 20%6; U+Xo” 1.6:0u0-

\o T6.0+ DIAGMGR-4-FIXED_INTRVL_CHANGED: The users are not allowed to
change monitoring interval of Test <[chars]

Sy 00D UKA, U>2]f# 9,;4FA0éYo)¥a30aE&asU0” «aEU
O
*QEl xy000OUuU0 «$0éK", U>2]f#4F40&".3. Yo)¥a304aE

8; Azapah "F40 0 C:é8% 00 -

CiscoNX-OS *,9S T6.0+ ]JH _f,
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DIAGMGR-5

\o T6.0+ DIAGMGR-5-BOOTUP_CONF: Diagnostic Bootup Level: <[chars]
LYy 3ouUé b a¢ 0+é.;¢/aG_L a0

*QEf »£ -Dalde

\o T6.0+ DIAGMGR-5-CALLOC_FAILURE: Memory allocation failure.
'y malloc/calloc mi"04Uax”TU]é °aCaEud adU-

*QE£1 »£ -Dald-

\o T6.0+ DIAGMGR-5-CHANGE_ALWAYS_HM: Health Monitoring test <[chars]

Yy 00b UK~,  U>2]f# 9,;8"s-0 -Dé% 9,;a% ": .0
I"eedEUO -

*QE£1 xy0oOUud +$0éK", U>2]f# 9,:63. : .ol"=AE
U0 «* 9Sé\fileGPOA4asu0-.

\o T6.0+ DIAGMGR-5-HM_START: Health monitoring test <[chars]
Sy KA, U>2]f# 0 9,;4?2Z2000U0-.

*QE£1 »£ -Dald-

\o T6.o0+ DIAGMGR-5-HM_STOP: Disabling health monitoring test <[chars]

Yy KA, Us2]f# 9,;C—[0u0UssU>2 &Qf<a @ol"raeakul

\o T6.0+ DIAGMGR-5-INTRVL_INCORRECT: Monitoring Interval is less than
minimum of [dec] seconds required for Module <[dec]

Y 9,4FA0C 1j%e@30D UUU” 00D U9,;6KA, U>2]f# @o
I"eeO Tacacuod -

*QfT *,9Sé\fie@GPOA&A "Yo)C»ED -Déew ud «9,;4F40
#HEO «'@é”’00Db UU>2]f#4F404a.30 (»4& 4¢¢€4F400C \o T6.0
+ae+$ D 4¢ule

\o T6.0+ DIAGMGR-5-MODULE_MISSING: Diagnostic command issued on
non-existing Module <[dec]

JY e "*ZfcbpPD U, 6;@\ f 0<GC-xBE 00 -

*QE£1 »IN&d& \ f 0<CO00, 6;lj%eal# b ac, 1a#0.z0u0-

\ f 0<Cli%ee-# D a¢ ' Command-line Interfa®€CLl; & Qf<\ f f

20H ,90a\0¢,°6; 000UTa #0.z00u0\ f 0<Cli%ea-# D

"WO¢, 6; 000U«'éMm5Yya” B U \o T6.0+A 7  show
tech-supporté~ @éUU&GoO"TH "afe fIUOe*, &E9"> A (

Po; °(*&ljdE0a"i4eOU+Z -$ OAEUD,

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ DIAGMGR-5-NONHM_AS_HM: The Test <[chars]

LY Non-HM 9,; K~ U>2]f# 9,;404,$+Xo0”04as- PO Tae
aEul -

Q£ »£ -Dald-

DIAGMGR-6

\o T6.0+ DIAGMGR-6-BOOTUP_DIAG_OK: Module <[dec]
LY &:¢9,;8 0<é \oé "D ub aou-.

Q£ \ f 0<C&:¢9,;@'pOUiasO0+2T6.0+a0-

\o T6.0+ DIAGMGR-6-BOOTUP_TEST_STARTED: Module <[dec]
Y %éU+X0”re»0/aG9,; 4220000-

*QE£1 »E -Dale

DOTIX T6.0+
1Taé” DOTIX T6.0+&eRBsa ' yOUb-.

DOTIX-2

\o T6.o0+ DOT1X-2-DOT1X_INIT: Dotlx unable to start.

Yy  *,9SC DotlxJ ., P'aEu® adU-

*QE£1 (Po;eR¢aé”~ MID U*,&é].\oaAce' OEUD

* &A(P0;>& & a¢ '@ CiscoTACe A5 .daAce' OEUD

DOTIX-3

\o T6.0+ DOT1X-3-ERR_SPANDST: It is configured as a SPAN Dest port.
'y Dotlx AT SPANp5Po;é&cUaf+>ai(»a0-
*QE£1 U0 SPANp5Po0;30 : .0l"&eQ&4a/k "Po;é Dot1x
AdGuod-
\o T6.0+ DOT1X-3-INVALID_INPUT: Invalid on interface [chars].
Ly Dotlx f2o0H D\To2C-Uo% b /aAAa¢ A£”ulUéu2a0-

«Qf£T CLIKAJ Q>X » 6-04"-28 802.1xD\T02 #0.2000

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ DOT1X-3-MEM_UNAVAIL: perform the 802.1X action.
'y Dotlx.z= s- O Uué*,9S TUJC /+04&asu0-
¢ Q£ *€* 9S "9 F9 & O4aTuls-b'-zOuo- A+ae 0a” T
]t C30u0-

\o T6.0+ DOT1X-3-NOT_DOT1X_CAPABLE: interface [chars] becauseitis not
a physical Ethernet interface.

'y Dotlx.z=8" ! o(@6; f20H , 4é0 @ol”~ae 0O TacaE
*QE£1 | 0(@6; f2o0H ,aéu Dotlx.z= @ol*&0ud-.

\o T6.0+ DOT1X-3-SM_INIT: Internal error while initializing state
machine [chars], state [chars]: [chars].

Ly u2a,9o0; Q*f E%{O AaOuOU-

*Q£T dotlx,90; Q*f E%{OuO-
DOTIX-4

\o T6.0+ DOT1X-4-BADEVENT: Event [chars] is invalid for the current
state [chars]: [chars] [chars].

JYy  0+éu28A é,90; Q*fee Lf; 1b#nO AaOuOU-

*Q£7T dotlx,90; Q*f E%{OuO-

\o T6.0+ DOT1X-4-MAB_DISABLED: Interface [chars] is in Trunk mode, MAB
will be disabled on this port.

Sy MAB @7\ f" Po;aé(Po;D u0l -

*QfT MAB @ol*&d ®é"Po;C;\f" Uo<ad¢la#d.z0ude

\o T6.0+ DOT1X-4-STOPPED: Event [chars] ignored because the state
machine is stopped: [chars] [chars].

'y Oade—[04a¢ ,90; Q*fe Lf; 1b#nO AaOuOU-
«QeT  ,90; Q*ofe»AJli \0C"1¢OUOU-UAzeR: aé; 0,C6
" 6-04EUD

\o T6.0+ DOT1X-4-TO_MULTIHOST: Interface [chars]isintrunk mode, dot1x
host mode will be multi-host and changing it to single-host mode won't be

supported.
[y 0+-éPo;é;\f" Uo<&éa” dotlxN,; Uo< Q7"4N,; Uo<ax 0
DC% 00
*QE£1 N,; Uo< <0 &&"Po;C;\f" Uo<adc¢ia#d.z0ub-e
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DOTIX-5
\o T6.0+ DOT1X-5-DOT1X_DISABLED: dotlx Disabled .
'y Dotlx (0F,C: .0l12a0-
*QE£1 »£ -Dalde
\o T6.0+ DOT1X-5-DOT1X_ENABLED: dotlx Enabled.
'y Dotlx (0F,C @ol”a0-
*QE£1 »£ -Dald-
\o T6.0+ DOT1X-5-INVALID_MAC: broadcast or multicast mac address)
[chars] is trying to authenticate.
Sy 8021x 620U.z=&"/""1"o< V,;”A 1Q"4 V,;A1M>0 MAC

< ,e2»0485 b 00 -

*QfT Dotlx (Po;0 N,; Dotlx » Po:a'& Ou0b-

\o T6.0+ DOT1X-5-SECURITY_VIOLATION: interface [chars], New MAC address
[chars] is seen on the interface in [chars] mode.

Y \o T6.0+&+$ D 4¢ f20H , éPo;C"*f#" N,;
Uo<a®e30Db a4¢,u0¢1é f20H , a4 D AO¢N,;6"0064.

X]9 104040 ub.Po:é errdisablee® uOU-

*QEf Po; 1RéN,;01 620 A=z300u0- <Cmd | Oub-

\o T6.0+ DOT1X-5-SESSION_CREATION: Dotl1x authentication session
initiated in interface [chars]using authentication method [chars].

Y (J] f:éz=C\iae&LOU%A”" Dotlx.z=.6*ZfCP'D aOU.

*QE£1 »E DAl

\o T6.0+ DOT1X-5-SESSION_TERMINATION: Dotlx authentication session in
interface [chars] using authentication method [chars] is terminated because of
[chars].

Ly Dotlx.z=.6*ZfC&LOUOU-

*QEf »£ -Dal-
\o T6.0+ DOT1X-5-STATUS: Dotlx interface [chars] status changed from
[chars] to [chars].

'y Dotlx.z=é]1fi,90;C {OuOU-

Q£ »£ -Dald-

CiscoNX-OS *,9S T6.0+ ]JH _f,
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DSTATS T6.0+
ffaé” DSTATST6.0+xRca'yOuod-.

DSTATS-2
\o T6.0+ DSTATS-2-PSS_INIT_FAIL: pssinitialization failed due toerror:
[hex].
Y \oze " Dstats] " ., & pss Ev2{aEu0O a0OU-
*Q£1T showflash&Qf< 6120 4af& 7 dgOuOelltaB 4" pss é *,
9S \o &o< 6-04EUD¢-
DSTATS-3

\o T6.0+ DSTATS-3-PSS_CREATE_FAIL: pss create runtime database failed
due to error: [hex].

Y \oze " DstatsJ*.,a  pss\f2 S :02Lo, P*aEU0O adU.

*Q£f7T showflash&Qf< 6120 4af& 7 4gOuUDeltmBRB 4" pss é *,
9S \o &o< 6-04EUD¢-

\o T6.0+ DSTATS-3-PSS_DELETE_FAIL: pss delete runtime entry key:[hex]
failed due to error:[hex].

Ly \oae 7 DstatsJ ™., a pss\f2 S fi] o [hex] 84°aEu00 a
OuU-
*Q£1T showflash&Qf< 6120 4af& 7 dgO U1t B 4" pss é *,

9S \o &o< 6-0&4EUDb-

\o T6.0+ DSTATS-3-PSS_MAX_KEY_FAIL: pss set runtime max key failed due
to error:[hex].

Y \oze " DstatsJ*.,a pss\f2 S“" o P*aE0Q®O aouU.

*Q£fT showflash&Qf< 6l204af&+7Z UdgOUO1+txR 48" pss é *,
9S \o &o< 6-0OA&EUD-

\o T6.0+ DSTATS-3-PSS_MAX_VALUE_FAIL: pss set runtime max value failed
due to error:[hex].

Y \oae " DstatsJ ., a pss\f2 S""o .30aE00O ao0U-.

*Q£f1T showflash&Qf< 61204af&+7 dgOuOel1+taBsaé” pss é *,
9S \o &o< 6-0&4EUDb-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ DSTATS-3-PSS_OPEN_FAIL: pss open runtime database failed due
to error:[hex].
Y \oze " DstatsJ".,a  pss\f2 S :02Lo, 42ETacatcEu0 a
OU-
*Q£f7T showflash&Qf< 6120 4af&+7 dgOuDeltmBR 4" pss é *,
9S \o &o< 6-04EUD¢-
\o T6.0+ DSTATS-3-PSS_RELOAD_FAIL: pss reload runtime database failed
due to error:[hex].
Y \oae " DstatsJ " ., a pss\f2 S :02Lo, ]'o<aEu0 ao
U L]
*Q£f1T showflash&Qf< 6”20af&+7 dgOuOel1+taBsaé” pss é *,
9S \o &o< 6-0&4EUDb-
\o T6.0+ DSTATS-3-PSS_SNAPSHOT_DEBUG_FAIL: pss snapshot runtime debug
to uri:[chars] failed due to error:[hex].
Ly \oae 7 DstatsJ ., a pss\f2 S :C6# uriee,=6J*26;aE
ud aou-
*Qf£7T showflash&Qf< 6”204af&+7Z UdgOuUOl1+txBR 4" pss é *,
9S \o &o< 6-0OA&EUD-
\o T6.0+ DSTATS-3-PSS_SNAPSHOT_FAIL: pss snapshot runtime to
uri:[chars] failed due to error:[hex].
Y \oae " DstatsJ ., a pss\f2 S uri &,=6J*26:aEu00 a
oU-
*Q£1T showflash&Qf< 6”20 4af& 7 dgO U1t B 4" pss é *,
9S \o &o< 6-0&4EUDb-
\o T6.0+ DSTATS-3-PSS_STORE_FAIL: pss store runtime entry key:[hex]
val:[hex] failed due to error:[hex].
'y \oee ”  Dstats)'.,a pss\f2 S ] oo ;=aEu0 aoU-
*Qf£T showflash&Qf< 6l204af&+7Z UdgOuUDel1+txR 48" pss é *,

9S \o &o< 6-0OA&EUD-
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EIGRP T6.0+
ifaé” EIGRPT6.0+&R¢sa ' yOude

EIGRP-2

\o T6.0+ EIGRP-2-PTHREAD_FAILED Format: %s failed in %s for thread %s

'y EIGRPJ.,C2," ,_6< P*aE0NO aouU-.

*QET & 3fJOU%4”" restart CLI & Qf< 8120 a&fPo@f; c/aGOuU
O

\o T6.0+ EIGRP-2-NO_SET_PRIORITY Format: Failed to set policy or
priority

'y EIGRPJ.,C)D0SéJ" ., J\ ]9 304aEu0 aoU- &LOuO.

*QE£1 $xe»fée Dad.

\o T6.0+ EIGRP-2-RLIMIT_FAILED Format: Couldnt set data segment size to
%lu’

'y EIGRPJ . )DOEéTU] ]00,U4¢ 308EU0 a0U&LOUO-

*QEf $e»fé Dald-.

\o T6.0+ EIGRP-2-INIT Format: %s failed
'y EIGRPJ ., E%{aE0NO aoOU-

*QfT & 3fJOU%a"&fPo@f; c/aGOUO-

\o T6.0+ EIGRP-2-SM_CREATE Format: Couldnt create shm segment %s'
'y EIGRPJ.,8R-TU] ]0o, Ev4{aEU0O a0OU-

*QEf & 3fJOU%4”" restart CLI & Qf< 8120 a&fPo@f; c/aGOuU
O.

\o T6.0+ EIGRP-2-MAIN_MALLOC_FAILED Format: malloc() failed in
eigrp_main()

'y EIGRPET f ,_6<C” mqg_receive)one»0O T6.0+¢é >z -DATU]
caEUO aouU.

*QfT & 3fJOU%A"&fPo@f; c/AGOUOD-

\o T6.0+ EIGRP-2-API_INIT Format: Couldnt initialize %s API'

'y EIGRPC’&fPo@f;&dlb>0 Uué APl o0JfaEUO aouU-

Q1 S$a»fe -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ EIGRP-2-TIMER_SET_INIT Format: Couldntinit % sactive timerset'
'y EIGRPC2 Qo ]0o, Ev{aEu0 adU-

*QEf & 3fJOU%4”" restart CLI & Qf< 6120 a&fPo@f; c/aGOuU
O.

\o T6.o0+ EIGRP-2-URIB_REGISTER Format: EIGRP could notregister withthe
URIB

'y E¥%{(ee EIGRPé& URIBJ .,®&"™3saEud aouU-

*QE£1 & 3fiJOUw%a" restart CLI & Qf< 81204a&fPo@f; c/aGOuU
O

\o T6.0+ EIGRP-2-URIB_DEREGISTER Format: Could not deregister with the
URIB in %s

'y EIGRP&"00bD Uli(»é URIB /£ ™3s.4°aEu0 ao0OU-

*QET & 3fJOU%A”" restart CLI & Qf< 8120 a&fPo@f; c/aGOuU
O

\o T6.0+ EIGRP-2-IP_REG_FAILED Format: ip_register() failed in
eigrp_init_ip()

'y EIGRPE&IPJ ., &™3saEud aoU.

*QE£1 & 3fiJOUw%a" restart CLI & Qf< 81204a&fPo@f; c/aGOuU
O

\o T6.o0+ EIGRP-2-CLI_INIT_FAILED Format: cli_init() failed in
eigrp_init_cli()

'y EIGRP& CLI (oC J .,&™3saEud aouU-

*QET & 3fJOU%4”" restart CLI & Qf< 8120 a&fPo@f; c/aGOuU
O

\o T6.0+ EIGRP-2-IM_REG_FAILED Format: im_register_client() failed in
eigrp_init_im()

'y EIGRP& IM J ., ,&"3saEud aoU.

*QE£1 & 3fJOU%4&” restart CLI & Qf< 6rP04&fPo@f; claGOuU
O

\o T6.0+ EIGRP-2-IM_ATTACH_FAILED Format: im_attach_shm() failed in
eigrp_init_im()

'y EIGRPé&IM éR-TU] .#Tf;& 'aEU0O aoU-

«QfT & 3fJOU%A” restartCLI &Qf< 6204&fPo@f; cAGOU
o

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ EIGRP-2-RPM_REDIST_INIT Format: Couldn tinitialize
redistribution API for %s'

'y EIGRPC"&fPo@f;da1b>0 Uié APl o0JfaEud aouU-.

Q£ $e»fé Dald-.

\o T6.0+ EIGRP-2-ILLEGAL_TIMER_ID Format: lllegal timer-id used in
eigrp_mgd_timer_init_leaf(), timer-id: %d

Yy \42 Qo IDCOob adOU-

*QE£1 $e»fé Dald-.

\o T6.0+ EIGRP-2-MGD_TIMER_CREATE_FAIL Format: Failed to create managed
timer %d

JYy 00D U%al 2 Qo PaEud aou-.

*QET $ae»féd Dal.
\o T6.0+ EIGRP-2-PROCINFO_CREATE_FAIL Format: eigrp_procinfo creation
failed

Ly procinfo P*aEU® aoU-

*QE£1 $e»fé -Dald.

\o T6.0+ EIGRP-2-CIB_CREATE_FAIL Format: eigrp_create_cib failed for
context %s

‘y 00D U&f9 ,; P*aEu® adU-

*QEf $e»fé Dald-.

\o T6.0+ EIGRP-2-URIB_ADD_ROUTE Format: urib_add_route() failed
'y URIB &”0; 1] aE00O a0OU-

*QEf $e»fé Dad-.

\o T6.0+ EIGRP-2-URIB_DEL_ROUTE Format: urib_delete_route() failed
LYy URIB £ "o; &4°aEu0 aoU-
*QEf $ae»féd Dad.
\o T6.0+ EIGRP-2-ALLOC_URIB_ADD Format: eigrp_smalloc() failed for URIB
add-route buffer
.y URIB add-routeC 6 H °4 TacaeuO aouU-.

*QE£1 $e»fé Dad-.

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ EIGRP-2-ALLOC_URIB_DEL Format: eigrp_smalloc() failed for URIB
delete-route buffer

.y URIB delete-routeC 6 H °4 Tacacu® aou-.

Q£ $e»fé Dald-.

\o T6.0+ EIGRP-2-ERR_URIB_TID Format:
CantdeterminecontextfromURIBtableid%ld'

Sy URIB9ol”~ ID é&f9 ,; #0.zAaEuO aoU.

*QE£1 $e»fé Dad-.

\o T6.0+ EIGRP-2-CLEANUP_DREG Format: Failed to deregister with %s
during eigrp_cleanup()

fYy 3 .,é*V6;3 f("00D U(oF,& ™3s.4°aE00 aoU-

Q1 S$a»fe -Dald-

\o T6.0+ EIGRP-2-REG_L3VM Format: Failed to register with 1I3vm
JY o 1B3vm J ., @e™3saEud aou.

Q1 $a»fe -Dald-

\o T6.0+ EIGRP-2-SBCR_INIT Format: Could notinitialize shared database
client, rc=0x%x [string]

Ly ]2of \o &o<élltae "R-:02Lo, E%{aEU0 a0OU-

*QE£1 $e»fé Dald.

\o T6.0+ EIGRP-2-REG_OPCODE Format: Could not register opcode 0x%X,
reason %s

LY 48D ag llre mts opcode™3saEUO 40U

*QEf $e»fé Dad-.

\o T6.0+ EIGRP-2-MTS_BIND Format: mts_bind() failedin binding %s mts_q,
error %s

Y \oe "00b U mts XoeseC f: f#aEu0O a0OU-

Q£ $e»fé Dald-

\o T6.0+ EIGRP-2-TIMER_CREATE_FAIL Format: Failed to create %s active
timer

2y 00D U "9 | 2 Qo b‘aEu® aou.

*QE£1 $e»fé Dald-.

CiscoNX-OS *,9S T6.0+ ]JH _f,
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|
\o T6.0+ EIGRP-2-ILL_POLICY_TYPE Format: lllegal policy type in %s()
Ly 0ob U rpm&o~"C6"éP]*0 2JC \a0-
*QEl $e»fé -Dald-
\o T6.0+ EIGRP-2-MTS_REQ_FM_STATUS Format: Failed in mts_register of
MTS_OPC_FM_SRV_FEATURE_STATUS
‘Y 0(»,902,1b#n -DPaEWO aoOU-
*QE£1 $e»fé Dad-.
\o T6.0+ EIGRP-2-VERIFY_PTAG Format: Could not verify process tag with
sysmgr
Ly oI, 2# sysmgra .=AE0O aoOU-
*QE£1 $e»fé Dald-.
\o T6.0+ EIGRP-2-ILL_FUNCCALL Format: lllegal call to function %s
JYy 48D 4¢ 4P™Gé \Ami 04l
*QfT ACTION_SW_NONE
\o T6.0+ EIGRP-2-ILL_WORKTYPE Format: lllegal work type %d
ipigrp2_process_workq()
'y boo ,_6<C \abo" 2J >0u0U-
*Qf£T ACTION_SW_NONE
\o T6.0+ EIGRP-2-ERR_FREEBUF Format: lllegal memory free in function %s
Ly \&TUJ4?| "OuOU-
*QEl ACTION_SW_NONE
\o T6.0+ EIGRP -2 - NO_MEMORY Format: Cantallocatememoryinfunction%s'
Sy 48D 4¢ 4AP™ATU] °4& Tacatcuo -
*Q£1T ACTION_SW_NONE
EIGRP-3

\o T6.0+ EIGRP-3-UNKNOWN_MTYPE Format: Unknown mtype: %d/%d in %s

'y EIGRPC y&J . 4FT6.0+ >0"<"6JOuUOU-

*QEf $e»fé Dald-.

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ EIGRP-3-SYSMGR_DISPATCH Format: Error returned from
sysmgr_dispatch(), errno: %s

'y EIGRPC*,9S Q@o+VAPI mi"OuOUC” \oC10D ulU-

*QfT & 3fJOU%a"&fPo@f; c/aGOuUOb-

\o T6.0+ EIGRP-3-MTS_RECV Format: Errorreturned frommts_recv(), errno:
%s

'y EIGRPCMTSAPI mi"OuOUC” \oGC1l0D uOU-

Q£ & 3fJOU%a"&fPo@f; claGOUOD-.

\o T6.0+ EIGRP-3-MTS_DROP Format: Error returned from mts_drop(), errno:
%s

'y EIGRPCMTSAPI mi"OuOUC” \oC10D uOU-

*QEf & 3fJOU%4”" restart CLI & Qf< 8120 a&fPo@f; c/aGOuU
O

\o T6.0+ EIGRP-3-SYSMGR_QUERY Format: Sysmgr state query failed for uuid
%d, tag %s

Yy OH; uUeéBoc< \oC"eOuO U

*QE£1 $e»fé Dald.

\o T6.0+ EIGRP-3-INTERNAL_DUAL Format: %s %d: Internal Error

'y EIGRPéIJ1A: X ~-4¢A :C6#

*QE£1 & 3fiJOUw%a" restart CLI & Qf< 8120 4a&fPo@f; c/aGOuU
O

\o T6.0+ EIGRP-3-ANCHORCOUNT_DUAL Format: Anchor count negative

'y OH; uUéBo< \oC"1¢OuOU-

Q1 $a»fe -Dald-

\o T6.0+ EIGRP-3-BADCOUNT_DUAL Format: Route %s, %d successors, %d rdbs
'y Bo< uUéo0H; \oC"1¢OuOU-
*QEf $ae»féd Dald.

\o T6.0+ EIGRP-3-RDBLEFT_DUAL Format: dest %s, nexthop %s (%s), origin

%s
'y OH; uUéBoc< \oC"l¢OuOU-

*QE£1 $e»fé Dald.

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ EIGRP-3-SIA_DUAL Format: Route %s stuck-in-active state in %s
%d. Cleaning up

'Yy Bo< uUéO0H; \oC"1¢Ou0U-

*QE£1 $e»fé Dad-.

\o T6.0+ EIGRP-3-REFCOUNT_DUAL Format: Negative refcount in pakdesc %x
Ly OH; aUéBo< \oC"1¢Ou0OU-

*QE£1 $e»fé Dald.

\o T6.0+ EIGRP-3-NOHANDLE_DUAL Format: Handle %d is not allocated in

pool.
'y Bo< 0UEéO0H; \oC"1¢OuOU-

*QEf $e»fé Dald-.

\o T6.0+ EIGRP-3-MULTIFLOW_DUAL Format: Flow control error, %s, on %s
'y Bo< 0UEéO0H; \oC"1¢OuOU-

Q1 $a»fe -Dald-

\o T6.0+ EIGRP-3-PEERSEXIST_DUAL Format: %d peers exist on 1IDB %s
Jy OH; uUeéBocx \oC"1¢Ou0U-

*QE£1 $e»fé Dad.

\o T6.0+ EIGRP-3-UNKTIMER_DUAL Format: Unknown timer type %d expiration
Ly Bo< GUB&OH; \oC"1¢Ou0OU-

*QE£1 $e»fée Dald-.

\o T6.0+ EIGRP-3-PROBESEQ_DUAL Format: Bad probe sequence %d from %s,
expecting %d

'y OH; uUeéBox< \oC"¢OuO U

*QEf $e»fé Dald-.

\o T6.0+ EIGRP-3-PFXLIMITTHR_DUAL Format: %s %d %s reached prefix limit
threshold

LY J_H ", U4 OE¢0ae1eOuOU-.

Q1 $a»fe -Dald-
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\o T6.0+ EIGRP-3-PFXLIMIT_DUAL Format: %s %d %s prefix limit exceeded
Sy J_H ", U4t OE¢o0 fAAUOU-.

Q1 $@»fe -Dald-

\o T6.0+ EIGRP-3-DUP_ADDR Format: Duplicate address %s detected on
interface %s

Ly +0(1@6; é 2R¢é EIGRP*02&+0 IP <_,C30D a4,u0U-

*QE£1 $e»fé Dald-.

\o T6.0+ EIGRP-3-GR_OFF_DURING_UPG Format: Attempt to upgrade system
with graceful-restart off.

'Yy #_0o,HA 1,20; Ha&04&4*,9Sé 6J#_o< \uuO-

*QEf $e»fé Dald-.

EIGRP-4
\o T6.0+ EIGRP-4-UNEQUAL_METRICS Format: EIGRP: Unequal metric (%s),
delay [%u/%u], bandwidth [%u/%u], mtu [%u/%u], hopcount [Y%u/%u], reliability
[Y6u/%u], load [%u/%u]
LYy 0LO&¢T;]6" “O” log-neighbor-warning@® @ Co/ Té #90C @ o
I"eedbasule
Q£ $e»fé Dald-.
EIGRP-5

\o T6.0+ EIGRP-5-SHUTDOWN Format: Shutting down EIGRP process - %s
'y EIGRPC*V6;3 f-Bp >0uOU-

*QE£1 $e»fé Dald-.

\o T6.0+ EIGRP-5-EVENT_DUAL Format: %s, %s

'y DUAL Lf; "#T6.0+

*QE£1 $e»fé -Dald.
\o T6.0+ EIGRP-5-NBRCHANGE_DUAL Format: %s %d: Neighbor %s (%s) is %s:
%s

'Yy @ CoC 6JuUé3 faed uOU-

*QEf $e»fé Dald-.

CiscoNX-OS *,9S T6.0+ ]JH _f,
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ELTM T6.0+

ELTM-2

ffaé” ELTM T6.0+&RBsa'yOuld-.

\o T6.0+ ELTM-2-INTERFACE_INTERNAL_ERROR: Internal error:
[chars]:[chars], collect output of show tech-support eltm.

LYy ELTM aJ1A \oC"1¢OuOU- show tech-support eltm 620 4% @& -D&=*
Z 04gO00-

Q£ »£ -Dald-

\o T6.0+ ELTM-2-INTERNAL_ERROR: Internal error: [chars], collect output
of show tech-support eltm.

'y ELTM al]1f \oC"¢OuOU- show tech-support eltm 6204% @& -Da+
Z 4000~

*QEf »£ -Dald-

\o T6.0+ ELTM-2-INTF_NOT_FOUND: Interface [chars] not found in ELTM
database [chars] .

'Yy ELTM :02Lo,a f20H ,C=+0u00 -

*QE£1 »£ -Dald-

\o T6.0+ ELTM-2-INTF_NOT_SUPP: Interface [chars] not supported by ELTM
[chars].

'y ELTM 700D U2pé f20H , (P0;04acs00 -

*QE£1 »E -Dale

\o T6.0+ ELTM-2-INTF_TO_LTL: Failed to get LTL for interface [chars]
return status [chars].

'y ELTM ¢” f20H ,é LTL caEu® aoOU-1é f20H ,a
>0UDS$6;8"H bo: f# f+fA\OEEL D 8¢, WHC% 0Ol

*QEf »£ -Dal-

M CiscoNX-OS *,9S T6.0+ JH _f,
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||
ELTMC T6.0+
ffaé” ELTMC T6.o0+&Bsa'yOud-.
ELTMC-SLOT#-2
\o T6.0+ ELTMC-SLOT#-2-ELTMC_INTERFACE_INTERNAL_ERROR: Internal
error: [chars]:[chars], collect output of show tech-support eltm.
LYy ELTM aJ1A \oC"1¢OuOU- show tech-support eltm 620 4% éUiiéx=
Z 04gO00-
Q£ »£ -Dald-
\o T6.0+ ELTMC-SLOT#-2-ELTMC_INTERNAL_ERROR: Internal error: [chars],
collect output of show tech-support eltm.
'y ELTM al]1f \oC"¢OuOU- show tech-support eltm 6204% @& -Da+
Z 4gOul-
*QEf »£ -Dald-
\o T6.0+ ELTMC-SLOT#-2-ELTMC_INTF_NOT_FOUND: Interface [chars] not
found in ELTM database [chars].
'Yy ELTM :02Lo,a f20H ,C=+0u00 -
*QE£1 »£ -Dald-
\o T6.0+ ELTMC-SLOT#-2-ELTMC_INTF_NOT_SUPP: Interface [chars] not
supported by ELTM [chars].
'y ELTM 700D U2bé f20H , (Po;04a,00 -
*QE£1 »E -Dale
\o T6.0+ ELTMC-SLOT#-2-ELTMC_INTF_TO_LTL: Failed to get LTL for
interface [chars] return status [chars].
'y ELTM ¢” f20H ,é LTL caEu® aoOU-1é f20H ,a
>0UDS$6;8"H bo: f# f+fA\OEEL D 8¢, WHC% 0Ol
*QEf »£ -Dal-
\o T6.0+ ELTMC-SLOT#-2-ELTMC_INTF_TO_SLOT: Failed to get slot for
interface [chars] return status [chars].
LYy ELTM C” f2o0H ,é,°6; caEu®O alOU-+Po; 4ve@~rA

T L2G(CC5A 1 (»HC% ul-

*Q£1 »E DAl

CiscoNX-OS *,9S T6.0+ ]JH _f,
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\o T6.0+ ELTMC-SLOT#-2-ELTMC_L2_LIF_ALLOC_FAIL_INTF: Failedto allocate
L2 LIF entries in forwarding engine for interfac [chars].

LYy ELTM C” L2LIF f;] H bo: f# f+fee °& 1acacuod
a0OUe+l &” f20H ,é_ W 2A1_ W 3H bo: f#@C5A000-

+QE£1 »E -Dale

\o T6.0+ ELTMC-SLOT#-2-ELTMC_L2_LIF_ALLOC_FAIL_VDC: Failed to allocate
L2 LIF entries in forwarding engine.

'Yy ELTM G” L2LIF f;] H bo: f# f+fee °4 1aCcacu0
aoU-i &e"1é VDCé W 2A T_ W 3H bo: f#&C5A0u0-

*QEf »£ -Dalb-

\o T6.o0+ ELTMC-SLOT#-2-ELTMC_L3 INGRESS_LIF_ALLOC_FAIL_INTF: Failed to
allocate L3 Ingress LIF entries in forwarding engine for interfac [chars].

MY ELTM C”L31 LIF f;] H bo: f# f+fee °a4 TaCaku
O a0U+i &” f20H ,é_ W 3H bo: f#&C5A0u00-

Q£ »£ -Dald-

\o T6.0+ ELTMC-SLOT#-2-ELTMC_RSVD_VLAN: Failed to get the reserved
VLANSs. Failed with error [chars].

'y  ELTM CM& VLAN caEud aou-il & SVI f2oH ,é6Q"4
V,: H bo: f#&C5A000-

*QEf »£ -Dal-

\o T6.0+ ELTMC-SLOT#-2-ELTMC_VLAN_INTERNAL_ERROR: Internal error: VLAN
[dec]:[chars],collect output of show tech-support eltm.

LYy ELTM aJ1A \oC"1¢OuOU- show tech-support eltm 620 4% @& -D&=*
Z 04gOu0-

Q£ »£ -Dald-

Cisco NX-OS *,9S T6.0+ JH _f,
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iffaé” Exchange Peer Parame®EPPROT6.0+& B4 ' yOUud .

EPP-5

\o T6.0+ EPP-5-EPP_FAILURE: Interface [chars] EPP Failure.
RN J &N \oC"1¢OuOU-

*Q£T  show epp internal event-history err 620 &"1¢OU \oC-+$ D 1O+

\o T6.0+ EPP-5-EPP_LOOPBACK: Interface [chars] is looped back to the
same switch.

'y  f20H ,C+0, 64 é1é f20H ,270JC6"D asu
A

*QE1 Té f2oH ,é'&i .2671¢, 64x'&D AxzOuld-.

ETH PORT CHANNEL T6.0+
1Tae” o(@6; P0;90 ETHPORBOT6.0+& B4 YyOUD -

ETH_PORT_CHANNEL-1

\o T6.0+ ETH_PORT_CHANNEL-1-LC_CFG_FAILURE: configuring module [dec]
failed [[chars]].

JYy  U+Xo”.30aEu0 aouU-.

*Qf£T U+Xo0"&)DGHx].6;D ul-

\o T6.0+ ETH_PORT_CHANNEL-1-MALLOC_FAILED: cannotallocate memory (size
[dec])).

JYy o TUJC /+04qu0e

*QE£1 »£ -Dald-

\o T6.o0+ ETH_PORT_CHANNEL-1-MAP_PARAM_FAILURE: mapping parameter failed
for [chars] [[chars]].

‘Y D\To2 Q6Gf#aEuU® adoU-

*QE£1 0ob U(oF,CcGpPO&asule- (oF,é,902, 4 6"0O4EU
D¢

CiscoNX-OS *,9S T6.0+ ]JH _f,
| oL-15994-01-J



%Y2%( Cisco NX-OS é*,9S T6.0+A TA6»5A |

\o T6.0+ ETH_PORT_CHANNEL-1-MCAST_SEND_FAILURE: failed to send
multicast [chars]: [chars].

Ly 064aéU+X0"®eQN4 V,; T6.0+ 1IM>0 Tacacud adoU-. 1b
fé”0liéuU+Xor"C—[0asUTaCcUAAD-
*Q£T  show port-channel consistency s- O4>'H 4 6"0Ou0-«

ETH_PORT_CHANNEL-2

\o T6.0+ ETH_PORT_CHANNEL-2-RESET_MODULE: reset module [dec] for not
responding or returning error.

Y %uCacA ulé \oC10D UUG"U+X07C].6;D 00U

*QE£1 »£ -Dald-

ETH_PORT_CHANNEL-3

\o T6.0+ ETH_PORT_CHANNEL-3-COMPAT_CHECK_FAILURE: [chars] is not

compatible.
Ly Po;, 4V@"&Po;1)J O aE"UuH4 6" \oC"1¢OuOU-
*QE£1 Po; 4V@~@&Po;1) O AE"UpHD\To2 OLDPO Azl

A aUéeU J*Zf 60OUO-

\o T6.0+ ETH _PORT CHANNEL-3-GENERAL_ERROR: [chars].

fy 0)x \oaO-

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-3-MSG_SEND_FAILURE: failed to send [chars] to
sap [dec]: [chars].

'y T6.0+ IM>aEu0 aoU-.

*QE£1 »E -Dale

\o T6.0+ ETH_PORT_CHANNEL-3-PORT_CHANNEL_NOT_FOUND: [chars] is not
found.

Ly » O :02Lo,=Po; AV@"rC™3sD 4,00 o1 & 1n&fPO@
f:anf'eOdae 18 cgOud-

*QEf »£ -Dal-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ ETH_PORT_CHANNEL-3-TIMEOUT:timed outafter [dec] seconds [type
[chars], state [chars]].

'y 0lié2pC2 S ;@& uOU-

*Q£T  show port-channel consistency s- 040 64éU+Xo0"é'& Ha>'H
4 6"0u0-

ETH_PORT_CHANNEL-4

\o T6.0+ ETH_PORT_CHANNEL-4-PORT_CFG_DELETED: [chars] removed from
[chars] (different module inserted).

LYy +0,°6;21éU+X0”rCb0eD UUGL"PoO; AV@"AE Po0;Ca4°P
uOU-.

*QE£1 Po; 4V@" A (ERAEEéPO;C, UOUAOsU+X0"éPo;
+OPo0; 4V@"eld O DC% E£4aALE4 6"04EUD -

\o T6.0+ ETH _PORT CHANNEL-4-PORT_INDIVIDUAL: port [chars] is

operationally individual.

‘Y ‘o ~uUélUo;aPo; AV@~rénlna0as3ob a¢ eyELE O
Po;CX1]f"a0aGp0asu0"

Q£ o "A T]Uo0;aPo0;é30 4 6"0O"Po; AV@"rénliao
4aGpPaE AazOul-
\o T6.0+ ETH_PORT_CHANNEL-4-PORT_NOT_FOUND: port[chars]is not part of

port-channel.

Ly » O Po; 4AV@" :02L0,2P0;C"3sb asu0 o1 & 1A &f
Po@f;anf'eOéae 14 ¢cgOud-.

*QEf »£ -Dal-

\o T6.0+ ETH _PORT CHANNEL-4-RACE_WARN: [chars].

Y o, &f: *Zfae»0/T4ab-

*QE£1 »£ -Dald-
\o T6.0+ ETH_PORT_CHANNEL-4-UNEXPECTED_RESPONSE: unexpected response
[chars] from [chars].
'y Do é%u >OUUGDEOUOU-

*QE£1 »E -Dale

CiscoNX-OS *,9S T6.0+ ]JH _f,
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ETH_PORT_CHANNEL-5

\o T6.0+ ETH_PORT CHANNEL-5-AUTO_CREATE_FAILURE: [chars] [chars].
'y Po; éDGP‘J .,a \0C"¢OUOU-

*QEf »£ -Dalde

\o T6.0+ ETH_PORT_CHANNEL-5-CREATED: [chars] created.

'y Po; 4Vv@~"Cb‘'D uOU.

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-5-DELETED: [chars] deleted.
'Yy Po; 4V@~"Cé&4°Db ulU-

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-5-FOP_CHANGED: [chars]: first operational
port changed from [chars] to [chars].

'y Po; 4V@"]éGP (»4"EéP0;G +D 1uOU-

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-5-IF_DOWN_SUSPENDED_BY_MODE: Interface
[chars] is down (Suspended due to incompatible mode.

'y Po; 4V@"@&Po;1) O AE"UuH4 6" \oC"1¢OuOU-
*QEl Po;aPo; 4AV@"NE4AFEUUHD\To2Co)LO AxzOul-
\o T6.0+ ETH_PORT_CHANNEL-5-IF_DOWN_SUSPENDED_BY_SPEED: Interface
[chars] is down (Suspended due to incompatible speed.
'y Po; 4V@"éPo;aGhPUpH4 6" \oC"1¢Ou0OU-
Q£ Po:&dPo; AV@"é4FEUpPHD\To02COLO Az Oub-
\o T6.0+ ETH_PORT_CHANNEL-5-LOAD_BALANCE_CONFIGURED: Port-channel load
balance algorithm has been configured to [chars].
'y  Po; 4V@"é o< C\f, A']1-SC D uOU-.

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-5-MAX_CHANNEL_DISALLOWED: Module failed to
come online because port channel interface <port-channel number

'y, 64®30D a¢ Po; AV@NMR C 128 /AA&su0-.

*QET c56éPo; 4V@" f20H ,é30 84°0u0-

Cisco NX-OS *,9S T6.0+ JH _f,
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\o T6.0+ ETH_PORT_CHANNEL-5-PORT_ADDED: [chars] added to [chars] .
'Yy Po; 4V@"&Po;Cl) B udU.

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-5-PORT_DOWN: [chars]: [chars] is down.
'Yy Po; 4V@"]1éPo;C3 fOuOU-

Q£ »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-5-PORT_HOT_STANDBY: [chars]: [chars] goes to
hot-standby.

Yy Po; 4V@"]éP0;CNG6;,2fC &$— OudU-

*QE£1 »£ -Dald-.

\o T6.0+ ETH_PORT_CHANNEL-5-PORT_REMOVED: [chars]removed from[chars].
'y Po; AV@"/E Po;Ca4°D uOU-
*QE£1 »£ -Dalb-
\o T6.0+ ETH_PORT_CHANNEL-5-PORT_SUSPENDED: [chars]: [chars] is
suspended.
'Yy Po; 4V@"]éPo;CO(—[DP ulOU-.

Q£ »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-5-PORT_UP: [chars]: [chars] is up.
Ly Po; 4V@"]éPo;C 6Jaed uOU.

*QE£1 »E -Dale

ETH_PORT_CHANNEL-6

\o T6.0+ ETH_PORT_CHANNEL-6-RESYNC: resyncing [chars]with allmodules.

Y \ouUé, 64 0Coé%a” U+Xo” ,0DoC )ac+¥%{0a¢u

*QE£1 »£ -Dald-.

CiscoNX-OS *,9S T6.0+ ]JH _f,
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ETH_PORT_CHANNEL-7

\o T6.0+ ETH_PORT_CHANNEL-7-GSYNC_DONE: global synchronizationis done.

'Yy Po; 4AV@" Q@o0+VC# 0oC +%{ bLOUOU-.

*QEf »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-7-GSYNC_REQ: requesting global
synchronization.

'y Po; 4V@" Q@o0+VC "9 | ,0DOC )& é# 0C +%{-Db
OuoOU-

Q£ »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-7-START_ACTIVE: started in active mode.
Ly Po; 4Vv@"™ Q@o+VC "9 | Uo<&aGouoOU-
*QE£1 »E DAl

\o T6.0+ ETH_PORT_CHANNEL-7-START_DEFAULT: started with default
configuration.

LYy Po; 4V@" Q@0+VC:H ~;.3084aG000U-

*QEf »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-7-START_STANDBY: started in standby mode.
fYy Po; 4V@”" Q@o+VC(C,2fC Uo<aaGouoU-.

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-7-START_STATEFUL: started statefully.
LY Po; 4V@" Q@o0+VCs- &fH IX_o*zZfa/acoOuoOU-.

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_CHANNEL-7-START_STATELESS: started statelessly.
Ly Po; 4Vv@" Q@o+VC,20; 61J &fH 'X_o*zZfa/aGcoOuoU-.

*QE£1 »E -Dale

Cisco NX-OS *,9S T6.0+ JH _f,
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ETH_PORT SEC T6.0+

iTae” ETH PORT SECT6.0+&R¢a'yOule.

ETH_PORT SEC-3

\o T6.0+ ETH_PORT_SEC-3-ETH_PORT_SEC_CONFIG_MAC_FAILED: Failed to
configure MACs.

LYy MAC .30aEud aoU-

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_SEC-3-ETH_PORT_SEC_INVALID_ VLAN: Invalid VLAN
configuration.

‘Y  u2& VLAN .30a0-

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_SEC-3-ETH_PORT_SEC_SECURITY_VIOLATION_ANOTHER_PORT:
Host [chars] bound to Port [chars] in Vlan [dec] is trying to access Port
[chars] in Vlan [dec].

Ly Po;é mac <_,(;TéPo;éy.z/E) Uu"Po; 1'0,90; &%
OuodU-.

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT _SEC-3-ETH_PORT_SEC_SECURITY_VIOLATION_MAX_MAC_VLAN:
Port [chars] moved to [chars] state as host [chars] is trying to access the
port in VLAN [dec].

Y <_, ; /lAAUUG"PO; 1'0,90;2%$—- OuOU-

—h

*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_SEC-3-ETH_PORT_SEC_UNABLE_TO_DISABLE: Unable to
disable eth_port_sec [chars].

'y eth_port_ seqoF, : .0ol*"&eaE0ld -

*QE£1 »£ -Dald-
\o T6.0+ ETH_PORT SEC-3-ETH_PORT_SEC_UNABLE TO_ENABLE:Unabletoenable
eth_port_sec [chars].

Ly eth_port seoF, @ol*&eaEuld -

*Q£1 »E DAl

[ oL-15994-01-J
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\o T6.0+ ETH_PORT_SEC-3-ETH_PORT_SEC_VIOL_UPDATE_FAILED: Failed to
update violation mode.

JYy 1'0Uo< 6J:0;aE00 alOU-
Q£ »£ -Dald-

ETH_PORT_SEC-5

\o T6.0+ ETH_PORT_SEC-5-ETH_PORT_SEC_AGE_TIME_EXPIRY: Age Time expired
for host [chars] in VLAN [dec] in port [chars].

LYy N,;é o+f# 2 SéY4¢C¥% uOU-
*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_SEC-5-ETH_PORT_SEC_DISABLED: eth_port_secDisabledon
if_index:[hex].

'y Eth_port seq(oF,C: .012a0-
*QEf »£ -Dale

\o T6.0+ ETH_PORT_SEC-5-ETH_PORT_SEC_DYNAMIC_MAC_ADDRESS_CLEARED:
Dynamic MAC addresses for port [chars] cleared.

'y Po0;é3 =R6" MAC <_,C"]1 B uOU-

*QE£1 »£ -Dald-

\o T6.0+

ETH_PORT_SEC-5-ETH_PORT_SEC_ENABLED: eth_port_sec Enabled on
if_index:[hex].

'y Eth_port_ seoF,C @ol”~a0-
*QE£1 »£ -Dald-

\o T6.0+ ETH_PORT_SEC-5-ETH_PORT_SEC_HOST_ADDITION: A new Host [chars]
learnt on Port [chars] in Vlan [dec].

'Yy Po; AAO¢N,;CG(D uOU-
*QEf »£ -Dale

\o T6.0+ ETH_PORT_SEC-5-ETH_PORT_SEC_HOST_DELETION: Host [chars] bound
to secure port [chars] in Vlan [dec] has been removed.

SV N,:Ca4°b uOU-

Q£ »£ -Dald-

M CiscoNX-OS *,9S T6.0+ JH _f,
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||
ETHPORT T6.0+
ffaé” ETHPORTT6.0+&RBR¢sa ' yOule.
ETHPORT-2
\o T6.0+ ETHPORT-2-IF_SEQ_ERROR: Error ([hex]) while communicating with
component [chars] opcode:[chars] (for:[chars]).
'Yy &fPo@f;C-Uo(@4dFlebbae %udud aduU.
*QE£1 »E8Y% 00 -
\o T6.0+ ETHPORT-2-SEQ_TIMEQOUT: Component [chars] timed out on response
to opcode:[chars] (for:[chars]).
'Yy &fPo@f;C-Uo(@4dFlaebbae %uOud adU.
*QE£1 »£ -Dald-
\o T6.0+ ETHPORT-3-IF_DOWN_CHANNEL_ERR_DISABLED: Interface [chars] is
down (Channel error disabled).
'y 1é f20H e PortChannelee 200 4 ¢ uO C” PortChannelé errdisableze & b
4¢000
*QfT 2004¢ PortChannel f2o0H , a shut A 7 noshutdown s- Ou
O
ETHPORT-3
\o T6.0+ ETHPORT-3-IF_DOWN_ERROR_DISABLED: Interface [chars]is down
(Error disabled. Reason:[chars]).
Ly f20H ,é30 &@¢é f20H ,a \oC"¢OuUOU-
*Q£T  show portinternal all interface [char] & Qf< 620" \oC"1¢OU f20
H ,éf&l+7 tdpOubepa aé«'é” f20H , a shutdown &e&i ¢,
& no shutdown & Qf< 6RO A£"6H C $o0l1” TEAOO TaaAs6aEn
O
\o T6.0+ ETHPORT-3-IF_UNSUPPORTED_TRANSCEIVER: Transceiveroninterface
[chars] is not supported.
Y \o T6.0+2e+$ D 4&¢ f20H ,é;\f*oCC” * &é(Po
»NU+Xo0"raé% ul -
*QE£1 U+Xo” UuHé% ;\f*oCaedpOuOl- \f*0C * & &E Y4
1D 4¢ «'é” Cisco TAC ®1j&E 04 ;\f*0oC dpO A= O4EUD -

CiscoNX-OS *,9S T6.0+ ]JH _f,
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ETHPORT-5

\o T6.0+ ETHPORT-5-IF_DOWN_ADMIN_DOWN: Interface [chars] is down
(Administratively down).

Y f20H ,C%rnl é3 fA @30b acul-

*Q£1T noshutdown s- OuO-

\o T6.0+ ETHPORT-5-IF_DOWN_CFG_CHANGE: Interface [chars]is down(Config
change).

'y c¢30CUAa” FCIP f20H ,Ca(>a&3 fOuOU-

Q£ »£ -Dald-

\o T6.0+ ETHPORT-5-IF_DOWN_CHANNEL_ADMIN_DOWN: Interface [chars] is
down (Channel admin down).

Ly Té f20H @ PortChannelee 200~ @ é PortChannelC%a! é3 fA e
30D 4,00
*QEf 2004 PortChannel f2o0H , a no shutdown s- OuO-

\o T6.0+ ETHPORT-5-IF_DOWN_CHANNEL_MEMBERSHIP_UPDATE_IN_PROGRESS:
Interface [chars] is down (Channel membership update in progress).

Ly f2o0H ,é PortChannelee 20 0”@ é PortChanneké.30 a&” f20H
,é30C\-D uOU-

*QfT 30 ci\OAEUD-
\o T6.0+ ETHPORT-5-IF_ DOWN_DOMAIN_ADDR_ASSIGN_FAILURE_ISOLATION:
Interface [chars] is down (Isolation due to domain id assignment failure).
Ly <T f °4(é \oCUAa"% 5D uOU-

*QE£1 »£ -Dald-

\o T6.0+ ETHPORT-5-IF_DOWN_DOMAIN_INVALID_RCF_RECEIVED: Interface
[chars] is down (Isolation due to invalid fabric reconfiguration).

JYy u28 RCF >000U-

*QEf »£ -Dal-
\o T6.0+ ETHPORT-5-IF_DOWN_DOMAIN_MANAGER_DISABLED: Interface [chars]
is down (Isolation due to domain manager disabled).

Ly <Tf Q@o+VGC: .ol"&b UTacUAa"% 5D uOU-

Q£ »£ -Dald-
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\o T6.0+ ETHPORT-5-IF_DOWN_DOMAIN_MAX_RETRANSMISSION_FAILURE:
Interface [chars] is down (Isolation due to domain manager other side not
responding).
Ly JUo; f<é<T f Q@o+VC %uOul -
*QE£1 »E -Dale
\o T6.0+ ETHPORT-5-IF_DOWN_DOMAIN_OTHER_SIDE_EPORT_ISOLATED:
Interface [chars] is down (Isolation due to domain other side eport isolated).
Ly JUo; f<C% 5D UlTacUAa"lé f2o0H , % 5000-.
*QEf »£ -Dald-
\o T6.0+ ETHPORT-5-IF_DOWN_DOMAIN_OVERLAP_ISOLATION: Interface [chars]
is down (Isolation due to domain overlap).
'y <T fé 0Co\6JCUAaA"%5000U-
*QE£1 »£ -Dald-
\o T6.0+ ETHPORT-5-IF_DOWN_ELP_FAILURE_ISOLATION: Interface [chars] is
down (Isolation due to ELP failure).
Ly f2o0H & ELP \oC"¢OuOU-
*Q£T  show portinternalinfo é” é ELP failurereasorH o”"< 4 6"0u0-
\o T6.0+ ETHPORT-5-IF_DOWN_EPP_FAILURE: Interface [chars] is down
(Error Disabled - EPP Failure).
RN J ;& \oC"¢OuOU-
*Q£T show portinternal event-history msgsé ~ ae-+$ B ;\f" J ;&"éy
/£ " \oxéabUllx 7600-
\o T6.0+ ETHPORT-5-IF_DOWN_ESC_FAILURE_ISOLATION: Interface [chars] is
down (Isolation due to ESC failure).
Ly f2o0H & ESC \oC"1¢OuOU-
*Q£T  show portinternal event-history ¢ & ESCJ ;&"éYy z6a” \o

gA+ (TOUOD-

\o T6.0+ ETHPORT-5-IF_DOWN_ETH_IF_DOWN: Interface [chars] is
down(Tunnel port src interface down).

'y FCIP f20H ,éC f<5a% o(@6; 1f"C3 fA a0

«Q£i 0(@6: $0I~C&D aA " f20H ,C%al -224aba
. 1a#d0z0ub-
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\o T6.0+ ETHPORT-5-IF_DOWN_ETH_LINK_DOWN: Interface [chars] is
down(Tunnel port src interface link down).

'y FCIP f20H ,éC f<5a% o0(@6; 1f"C3 fA a0
Q£ o(@6; $olrC&D a4A ”"JUo; f<y "9 la¥ 14
#5.z0u0

\o T6.0+ ETHPORT-5-IF_DOWN_FCOT_NOT_PRESENT: Interface [chars] is down
(FCOT not present).

Yy FCOTC D udU-

*Q£1T FCOT fiu0-

\o T6.o0+ ETHPORT-5-IF_DOWN_FCOT_VENDOR_NOT_SUPPORTED: Interface [chars]
is down (Error disabled - Fcot vendor not supported).

Y fl U FCOTé(Po;»Néyéaéew ud -
*QEf ,2Q0 (Po;@®lj&E0”zoLf30é;\f*0Cé],; I»04E
Ubg e

\o T6.0+ ETHPORT-5-IF_DOWN_HW_FAILURE: Interface [chars] is down
(Hardware Failure).

Y U+Xo0”éBo< \oC"eOUOU-

*Q£T  show module internal all module & Qf< 620740, C"1¢ OU U + X 0" &4P
O f&l+Z 4gOuO-

\o T6.0+ ETHPORT-5-IF_DOWN_INCOMPATIBLE_ADMIN_MODE: Interface [chars]
is down (Error disabled - Incompatible admin port mode).

'y 1é f20H ,a(Po;D 4¢c4¢U0<C.30Db uOU-
*Q£1T showportinternalinfo s- O4” 1é f2o0H ,a(Po;D a¢ Uo
<é0-é +$000-

\o T6.0+ ETHPORT-5-IF_DOWN_INCOMPATIBLE_ADMIN_RXBBCREDIT:
Interface [chars] is down (Error disabled - Incompatible admin port

rxbbcredit).
Ly (Po;b a¢ga¢ > B2B" _+6; ( -C30b uOU-
*Q£T  show portinternalinfo s- 04" > B2B" +6;65°( -.z6u0-

\o T6.0+ ETHPORT-5-IF_DOWN_INCOMPATIBLE_ADMIN_RXBUFSIZE: Interface
[chars] is down (Error disabled - Incompatible admin port rxbufsize).

'Yy (Po;b 4c4¢ >C6H ( -C30D uOU-

*Q£1T showportinternalinfo s- O4” >C6H é5°( - .26u0-
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\o T6.0+ ETHPORT-5-IF_DOWN_INCOMPATIBLE_ADMIN_SPEED: Interface [chars]
is down (Error disabled - Incompatible admin port speed).

'y 16 f20H ,a(Po;D 4,4,1f2G30D 10U

*Qf£T  show portinternalinfo s- O&4”1é f2o0H ,a(Po;D a¢ 1f
2%,D -+$ OuO-

\o T6.0+ ETHPORT-5-IF_DOWN_INITIALIZING: Interface [chars] is down
(Initializing).

Y f20H ,C "9 I{b a4¢ 1\ a0

*QE£1 Oé ETéA C&iE-'&” show port internal event-history ¢~ 20" f
20H ,CUIOA4¢ !+ $00U0 -

\o T6.0+ ETHPORT-5-IF_DOWN_INTERFACE_REMOVED: Interface [chars]is down
(Interface removed).

Y f20H ,C&4°Db uOU-

*QE£1 »£ -Dald-

\o T6.0+ ETHPORT-5-IF_DOWN_LINK_FAILURE: Interface [chars] is down
(Link failure).

fy o 1]f"C—[Ou0U-.
*QE£1 $o0lrC&iD a¢ £"A 1lUo0; f<C*V6;3 fb a¢a
cEAAE #O0.z0ub-
\o T6.0+ ETHPORT-5-IF_DOWN_LOOPBACK_DIAG_FAILURE: Interface [chars]is
down (Diag failure).
Y f2o0H ,a.:¢ \oC"leOuOU-

*Qf£T attachmodule&Qf< 6204U+X0"&e’'& 0" 4U0,¢c"e¢OU f20H
,edP O f&+7 i4sOu0-

\o T6.0+ ETHPORT-5-IF_DOWN_LOOPBACK_ISOLATION: Interface [chars] is

down (Isolation due to port loopback to same switch).

'y  f20H ,C+0, 64 é1é f20H ,270JC6"D asu
A

Q£ Té f2oH ,é'&i .2671¢, 64x'&D AxzOuld-.

\o T6.0+ ETHPORT-5-IF_DOWN_MODULE_REMOVED: Interface [chars] is down
(module removed).

JYy  U+Xo~C D UUG” f20H ,C3 fA &2& 0OU-

*QE£1 »£ -Dald-
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\o T6.0+ ETHPORT-5-IF_DOWN_NON_PARTICIPATING: Interface [chars]isdown
(Non participating).

LY ~0J Po;C 6 Uo<zd ulOU-

Q£ »£ -Dald-

\o T6.0+ ETHPORT-5-IF_DOWN_NONE: Interface [chars] is down (None).
Ly f20H ,C3 faedbag !lxé yal.
*Q£T  show portinternal info/event-history & Qf< 620 4P o;a4P O f&+7
40473 fOUI'lx 7600~
\o T6.0+ ETHPORT-5-IF_DOWN_OFFLINE: Interface [chars] is down
(Offline).
Y f2o0H ,C H\ feed uOU-

*QE£1 »£ -Dal-

\o T6.0+ ETHPORT-5-IF_DOWN_PARENT_ADMIN_DOWN: Interface [chars]isdown
(Parent interface down).

'y -8 f20H ,C3 fA a0

Q£ »£ -Dald-

\o T6.0+ ETHPORT-5-IF_DOWN_PEER_CLOSE: Interface [chars] is down(TCP
conn.closed by peer).

sy 16 f20H ,®'&D U FCIPG C TCP'& "“0-0u0OU-
*Q£T showinterface&Qf< 6120 &a"1é FCIP f20H ,éG P <
,C £ U0G C TCP& " 0-00+ 2600

\o T6.0+ ETHPORT-5-IF_DOWN_PEER_RESET: Interface [chars] is down(TCP
conn. reset by peer).

Q£1T showinterfface A T showiproute &Qf< 620 &4"G é P < A
ié FCIPG aé'&iaedlPb Unro;C £ u0«G C TCP'& ].6;0U
I+ 2600

\o T6.0+ ETHPORT-5-IF_ DOWN_PORT_CHANNEL MEMBERS_DOWN: Interface[chars]
is down (No operational members).

Ly 1T & PortChannel f20H ,a% "@éKTfCoCGP 3 fA a0-

*Q£T PortChannelé 1 B« éTfCo -2820u0-
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\o T6.0+ ETHPORT-5-IF_DOWN_SOFTWARE_FAILURE: Interface [chars] is down
(Port software failure).

'y Po; é:02 D, ££0 OH; a\oC"¢OudU.

Q£ »£ -Dald-

\o T6.0+ ETHPORT-5-IF_DOWN_SRC_PORT_NOT_BOUND: Interface [chars] is
down (Tunnel port src interface unbound).

Ly f@” Po;">0 f2o0H ,CC f<b a¢su0 -

*QE£1 »£ -Dald-.

\o T6.0+ ETHPORT-5-IF_DOWN_SRC_PORT_REMOVED: Interface [chars] is
down(Tunnel src port removed).

'y 1é FCIP f20H ,é;f@~M>0Po0;C&4°D uOU-
*QfT C f<b U f9 9 é IP <_,a0)L0 IP <_,élM>0 f2o0

H ,C84°P a,00+16T6.0+61bA"IM>0 f20H , P0;Oag
U+X0orC D Uldae -+$D 00-.

\o T6.0+ ETHPORT-5-IF_DOWN_SUSPENDED: Interface [chars] is down
(Suspended).

Ly Té f20H @ PortChannelee20 04,00+ "9 led 4Ea \o
CreOUTae "G(—[A ®aP&acule

*Q£T  shutdown A 7 noshutdown s- OQubOec2”1¢O «'&” f20H
,ee4P O  show port internal info/event-history ¢~  ¢OUu O«

\o T6.0+ ETHPORT-5-IF_DOWN_SUSPENDED_BY_MODE: Interface [chars]is down
(Suspended due to incompatible mode).

Ly 1é f2o0H @ PortChannelee 2004, u0C” f20H ,éGPbPUO
<& PortChanneé GbUo<Claad ul-

*QfT PortChannelé Uo<A T;\f f# Uo< autos & «O”" f20H
,élUo; f<y+O  PortChannele2004a¢ A£aALE #0.z000-

\o T6.0+ ETHPORT-5-IF_DOWN_SUSPENDED_BY_SPEED: Interface [chars] is
down (Suspended due to incompatible speed).

Ly Té f20H @ PortChannelee 200 4¢,00C” f20H ,éGPIf2
Uo<4& PortChannelé Gb1f2Uo0<Cla& 1u0-

*Q£1 PortChannelélf2 autos @ +O” f2o0H ,é]Uo; f<y+0
PortChannele200 4 £&ALE #0.z2000
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\o T6.0+ ETHPORT-5-IF_DOWN_TCP_MAX_RETRANSMIT: Interface [chars] is
down(TCP conn. closed - retransmit failure).

LYy ""clM> \oCUAA&” f2o0H ,C3 faed uOU-.

*QfT IP&é¥%¢eCUALY (»HC% 1u0- show interface A 1 show ip route &
Qf< 6O a"G é P < A iié FCIPG dé&iaed2b Uno;C

/£ uO-. traceroute ipaddr & Qf<a; o, no; s- 004G 8é'& 4 6"
O4EUD

\o T6.0+ ETHPORT-5-IF_DOWN_UPGRADE_IN_PROGRESS: Interface [chars] is
down (Linecard upgrade in progress).

Jy  \ f 0<éOH; 6J# _0<0acu0l-

*QEf »£ -Dal-

\o T6.0+ ETHPORT-5-IF_DUPLEX: Interface [chars], operational duplex
mode changed to [chars].

fY O ]f'C 6JaedbPUAE"GP:XJ_6", Uo<C uOU-

Q£ »£ -Dald-

\o T6.0+ ETHPORT-5-IF_HARDWARE: Interface [chars], hardware type
changed to [chars].

Ly \f*oCé fiy 04&a” f2o0H ,éBo< $Hee {C
Y% 00U-

*QE£1 »£ -Dal-
\o T6.0+ ETHPORT-5-IF_RX_FLOW_CONTROL: Interface [chars], operational
Receive Flow Contol state changed to [chars].
'y ]f"C 6Je&PUEE"GbPé >H oUIiC uOU-

*QE£1 »£ -Dald-

\o T6.0+ ETHPORT-5-IF_TRUNK_DOWN: Interface [chars], VLAN [chars] down.

Ly f2o0H ,C;\f f# &~ VLAN C3 fO4a;u0-
*Q£T show interface”show port internal info interface VLAN “show port internal event-history
interface vlan & Qf< 6120 a"1é f2o0H ,é VLAN C3 fOU!'l+x 70

é6a@i% Uud-.

\o T6.0+ ETHPORT-5-IF_TRUNK_UP: Interface [chars],VLAN [chars] up.

Y f2o0H ,C;\f f# &~ VLAN C 6Jaxéadbasul-

*QET »£ -Dald-
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\o T6.0+ ETHPORT-5-IF_TX_FLOW_CONTROL: Interface [chars], operational
Transmit Flow Contol state changed to [chars].

Y 1f"C 6JedbUAE"GPEIM>H oUIC 1uOU-

Q£ »£ -Dald-

\o T6.0+ ETHPORT-5-IF_UP: Interface [chars] is up [chars].
Ly f2o0H ,é00D UUo0<4a90.e°0 +90 6JA a0

*QE£1 »£ -Dald-

\o T6.0+ ETHPORT-5-SPEED: Interface [chars], operational speed changed
to [chars].

fy ]f'C 6JaeabUAE"GDPIf2C wuOU-

*QEf »£ -Dalb-

\o T6.0+ ETHPORT-5-STORM_CONTROL_ABOVE_THRESHOLD: Traffic in port
[chars] exceeds the configured threshold [chars]. Traffic on specified portis
beyond the configured storm-control threshold, and the excess traffic is being
dropped.

*QEl ;\H 6" ,;0S€">0 $0000-
\o T6.0+ ETHPORT-5-STORM_CONTROL_BELOW_THRESHOLD: Traffic in port
[chars] has fallen below the configured threshold [chars].
'Yy 00D UPo;é;\H 6"C”,;0SU1é300E¢0]ae” uOU-

Q£ »£ -Dald-
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EUREKA USB T6.0+
faé” EUREKAT6.0+&RBsa'yOulde

—)

EUREKA_USD-3

\o T6.0+ EUREKA USD-3-MSGL1: [chars].
'y Eureka'# T6.0+a0-

*QE£1 »£ -Dald-

EVMC T6.0+
ffaé” EVMC T6.0+&R¢a'yOulde

EVMC-5

\o T6.0+ EVMC-5-AVL_CREATE_FAIL: [chars]([dec]): AVL Tree creation
failure.

Sy Lf; Q@o+VC'o A Pl*o ,; Ev{aEu® adU.

*QE£1 »E -Dale

\o T6.0+ EVMC-5-MALLOC_FAILURE: [chars]([dec]): Memory allocation
failure.

‘Yo Lf; Q@o+V "\ f; J'.,C’TU] °& 1acatcu0 a

\o T6.0+ EVMC-5-RT_PSS_OP_FAILURE: [chars]([dec]): Failed to [chars].
Error:[chars].

Y Lf; Q@o+V "\ f:C HA ,; ".,aEuO0U.

*QE£1 »£ -Dald-

M CiscoNX-OS *,9S T6.0+ JH _f,

OL-15994-01-J



| %2 %( CiscoNX-OS é*,9S T6.0+A TA6»5A

EVMS T6.0+
ffaé” EVMS T6.0+&B¢sa'yOulde

EVMS-2

\o T6.0+ EVMS-2-EVMS_PSS_DELETE_FAILURE: Delete from PSS failed.

'y PSSAE €84°a \oG"leOUOU-

*QE£1 »£ -Dald-

\o T6.0+ EVMS-2-EVMS_PSS_WRITE_FAILURE: Write to PSS failed .
Ly PSS6é E10a \oC"¢eOuOU-.

*QE£1 »£ -Dald-

\o T6.0+ EVMS-2-EVMS_SHOW_POLICY_ALLOC_FAILURE: Insufficient memory:
policy information shown will be incomplete.

Sy TUJé °4a \oC"eOuOU«éUi®PD U+ZébKeeé+$ D
ud -

*QE£1 »£ -Dald-

EVMS-4

\o T6.0+ EVMS-4-EVMS_APPLET_NO_ACTION_DEFAULT: WARNING: The default
system policy actions are being skipped.

JY CH M é*,9S Pl*o "xZf , 6JO&,U0

*QEf »£ -Dal-

EXCEPTIONLOG T6.0+

i " #90 EXCEPTIONLO®@O T6.0+& B¢ a ' yOude.

—_
a»
D

EXCEPTIONLOG-SLOT#-2

\o T6.0+ EXCEPTIONLOG-SLOT#-2-LC_EXP_MSG: Linecard exception: [chars]
is the affected Port bit map. [dec] Additional information - [chars].

Sy LC  Lf;

Q£ »£ -Dald-
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|
GLBP T6.0+
iTae” Gateway Load Balancing Proto8GGLBPOO T6.0+@& R ¢ 4 yOu D
GLBP-2
\o T6.0+ GLBP-2-GLBP_URIB_INIT_ERROR: [chars].
LY Ys Vv, "o9 f#HEEW{a \oC"I¢O" GLBP J.,883L 000U~
*QfT URIB \oa4PO SyslogT6.0+ #0.